Junior Hindi Translator Junior Translator and Senior Hindi
Translator Examination 2023

Roll Number
Candidate Name
Venue Name

Exam Date 16/10/2023
|[Exam Time 9:00 AM - 11:00 AM
ISubject Junior Hindi Translator Paper |

Section : General Hindi

Q1 a5 T TSy R R TR AT 939 g9 Te ¥ T o1 waifte Suged B e
fawea & R T @2

Ans 1. 98 ey 8 R g T eld 8d © ISy @
2. I8 ST G&d TTH ¢ o WR Aed 9o 6 §

3. 98 &a Iy & T O OR ey Fer 8 §

4. TS 98 T © R TR Wed ey T Wea ©

Question ID : 264330173198
Option 11D : 264330679286
Option 2 ID : 264330679283
Option 3 ID : 264330679284
Option 4 ID : 264330679285
Status : Answered
Chosen Option : 4

Q.2 frafafea & & 5 areg & giciT Wreg &7 ST W farar man 82
Ans 1. T 9gd R T 31
2. 39 A B Hiam ot 71
3. YT §R §gd B &
4. SeIpe Teb Frax ST e B

Question ID : 26433063017
Option 11D : 264330246740
Option 2 ID : 264330246741
Option 3 ID : 264330246743
Option 4 ID : 264330246742
Status : Answered
Chosen Option : 2




Q.3 firar & yaRT @t 2P A R[S I F1 99 Piforwl
Ans 1. 3B 7 T DI T BT SR foba|

2. IARITd & el 1 urer &R geerst ¥ 99 gahd § 1
3. T ¥¢a grarard & Rl &1 urer R o arfe el
4. 98 STad oYl TR J HR Fardl g

Question ID : 26433062869
Option 1 ID : 264330246149
Option 2 ID : 264330246151
Option 3 ID : 264330246150
Option 4 ID : 264330246148
Status : Answered
Chosen Option : 3
Q4 U H g% o1 3-
Ans 1. ISR
2.3y
o 3. UIR
4. AIYH
Question ID : 26433062918
Option 1 ID : 264330246345
Option 2 ID : 264330246347
Option 3 ID : 264330246344
Option 4 ID : 264330246346
Status : Answered
Chosen Option : 3
Q.5 are fa=arg 9 =R @ S-91 9/ 98 22
Ans 1. 31eH TP T G HTUE B
2. IUR YRS faemerd ST 81
o 3. d IREWR 91 &l off gt |
4. Ut 3de oA fira S|
Question ID : 264330173206
Option 1 ID : 264330679316
Option 2 ID : 264330679315
Option 3 ID : 264330679317
Option 4 ID : 264330679318
Status : Answered
Chosen Option : 2




Q.6 e W g GeTay HT 34 §-
Ans 1. HR ST

2. g H HIAT
3. 3G B T 3T

o 4. T8 3
Question ID : 26433062190
Option 1 1D : 264330243455
Option 2 ID : 264330243454
Option 3 ID : 264330243453
Option 4 ID : 264330243452
Status : Answered
Chosen Option : 4
Q.7 fafifEa ® & f5a ue aren & wife gw=h amgfe 22
Ans 1. foda o fpait mferat Bﬁ?ﬁ %?
2. 9RT T 3R IH3H &1 B HRel ¢
3. BIg RM A B
4. 7 Yo &1 BT HRell B
Question ID : 26433062993
Option 1 1D : 264330246647
Option 2 ID : 264330246646
Option 3 ID : 264330246644
Option 4 ID : 264330246645
Status : Answered
Chosen Option : 2
Q.8 frufifEd @ frw oo are A Wit aw=h e 22
Ans 1. AT ) A R g1 1
2. o ¥ 9@ e g
3. faen fowrar ) 8k & ot 21
4. 51 S gl ]
Question ID : 26433062988
Option 1 ID : 264330246625
Option 2 ID : 264330246624
Option 3 ID : 264330246627
Option 4 ID : 264330246626
Status : Answered
Chosen Option : 2




Q.9 ﬁyam@ﬁﬁmqﬂwu%amﬁmmﬁﬁl

1. 3P W1 I T Y3,

2. 4 Y HeR EHeuTd TP Bie A Mia A Ed &
3. e oH B g RIS

4. AfPTTH AP I g,

Ans 1.3,4,2,1
& 2.2413
3.1,2,34

4.3214

Question ID : 264330173205
Option 1 ID : 264330679313
Option 2 ID : 264330679311
Option 3 ID : 264330679314
Option 4 ID : 264330679312
Status : Answered
Chosen Option : 2
Q.10 ProafifEd Rew § § SH-11 919 TS 22
Ans 1. AT TG gRT &S T8 Jod SPTAH Pl 8
2. A4 YT B Jod IHTaH Hid g
3. AMd & WIEH A SHTIT Bt 1 5 1
4. Td HITaH B Ipyad pia g
Question ID : 264330164539
Option 1 ID : 264330645348
Option 2 ID : 264330645350
Option 3 ID : 264330645347
Option 4 ID : 264330645349
Status : Answered
Chosen Option : 4
Q.11 I T Heray &1 Y &-
Ans 1. UhEH DI g1 ST
2. 3WaTg e
3. RS
4. TS B ST
Question ID : 26433070074
Option 1 1D : 264330274776
Option 2 ID : 264330274778
Option 3 ID : 264330274779
Option 4 ID : 264330274777
Status : Answered
Chosen Option : 4




Q.12 fpar & yai ot = F s a1 o1 TaH BRI
Ans 1. S & Yr-g® 5ot A B
2. A begex e H Uers B e B
3. UGTS FHXd T SER-JR 1 qd-Td el Bt el |
4. T 57 TIR-9IR ¥ IR0 Ug 38§

Question ID : 26433062870
Option 1 ID : 264330246154
Option 2 ID : 264330246152
Option 3 ID : 264330246153
Option 4 ID : 264330246155
Status : Answered
Chosen Option : 3
Q.13 fruffEa areg TSt &) erFgd® ue i 5 Sfua ww A fard)
1. TE9-UTA §IF A §
2. Mt 9 & pharae w®
3. I8 aral &1
4. TN IRTH IS
Ans 1.4,2,1,3
2.3,4,1,2
& 3.2,4,3,1
4.1,4,2,3
Question ID : 264330173201
Option 1 1D : 264330679298
Option 2 ID : 264330679295
Option 3 ID : 264330679296
Option 4 ID : 264330679297
Status : Answered
Chosen Option : 3
Q.14 fafafad o ¥ gu =l RIfS ardt a1 &1 99+ S|
Ans 1. 7 anf-anf =R sman
2. B3 S8 UM WRI B
3. g3 U& AT 3
& 4. TS B Sarsar SR
Question ID : 26433063010
Option 1 1D : 264330246715
Option 2 ID : 264330246714
Option 3 ID : 264330246712
Option 4 ID : 264330246713
Status : Answered
Chosen Option : 4




Q.15 fEffa A g i F R Ags = ?-
Ans 1. ¥igd F R H TR FapTell 3 = | & o
2. M & 10 3fad = Wgd ¥ R T A1eR FHabrett|
3. PR A Hg@ ¥ W H T & forg arex Faprett|
o 4. HPRT AR T IgH I W & o Frex Faredt|

Question ID : 264330169030
Option 1 1D : 264330662923
Option 2 ID : 264330662924
Option 3 ID : 264330662925
Option 4 ID : 264330662926
Status : Answered
Chosen Option : 4
Q.16 FrafafEa s @ wHyde ue 3k 3% Sfud v | fod|
1) U ud @1 fRiar
2) @ AiSY 3y Y oft 95 JeT APar &
3) fe A IHY &
4) T Q@
Ans 1.4,2,3,1
2.14.23
& 3.3,14,2
4.32,14
Question ID : 264330173210
Option 11D : 264330679332
Option 2 ID : 264330679333
Option 3 ID : 264330679331
Option 4 ID : 264330679334
Status : Answered
Chosen Option : 3
Q.17 fFEfifEd area &) eFyd® ue ok au- Tatht rfS &Y vga #% 3 ar ford |
A W IV IR I19 G |
Ans 1. G IR §1d R T[4
2. A IR 91 S|
3. WA 3R 9gd 91 S|
4. A N IV IR TS G|
Question ID : 264330169227
Option 1 1D : 264330663696
Option 2 ID : 264330663697
Option 3 ID : 264330663698
Option 4 ID : 264330663695
Status : Answered
Chosen Option : 4




Q.18 “3TaTel IS YgTax b7 313f 8-

Ans 1. T[T AT
& 2. Ry an
3 gt
4. 9R 9 sren
Question ID : 26433070072
Option 1 ID : 264330274769
Option 2 ID : 264330274770
Option 3 ID : 264330274771
Option 4 ID : 264330274768
Status : Answered
Chosen Option : 2
Q.19 Tg YT 3hd U B
Y@ifrd g & AW Wsg &1 9g P
Ans 1. QR
o 2. 949
3. Ui
4. g
Question ID : 26433062022
Option 1 ID : 264330242786
Option 2 ID : 264330242784
Option 3 ID : 264330242787
Option 4 ID : 264330242785
Status : Answered
Chosen Option : 2
Q.20 frgfafea # @ dier & fetwdf e &1 997 #3-
Ans 1. STeet
2. 3aradt
3. 3R
4. ARR
Question ID : 264330169194
Option 1 1D : 264330663567
Option 2 ID : 264330663568
Option 3 ID : 264330663569
Option 4 ID : 264330663570
Status : Answered
Chosen Option : 3




Q.21 fUPR P} e ToTE A gAY B &fayd H &1 I 8 3R o= a1 701 Bt 73718 & gav

B 7Y B B AL B 1’ a7 S fh Weg A ad waeh 3 32

Ans 1.99
2. &ffera
3. 9318
& 4. T
Question ID : 264330164496
Option 1 1D : 264330645178
Option 2 ID : 264330645175
Option 3 ID : 264330645177
Option 4 ID : 264330645176
Status : Answered
Chosen Option : 3
Q.22 gfe a1 yue™ & 3 & o & A R gerar &1 WA giar 82
Ans 1. 3ffeg e
2. 3ia e
3. 3iTEt § Wep
4. 3G YR ST
Question ID : 26433070073
Option 1 1D : 264330274772
Option 2 ID : 264330274773
Option 3 ID : 264330274775
Option 4 ID : 264330274774
Status : Answered
Chosen Option : 2
Q.23 |, BT 3R Yhsr
Iwfaa Yerawy, FRufefead & 3 frg uRfRifa & fore Suga 82
Ans 1. 98 S 5% i Ugd1 8, IV TS $ SR UH e o I1C 8 Sl ©
2. q8 3MeH BT 1 Bt 910 A FIRG BT 3R B UHS 8l 8
3. A AT A B @ YN A1 I8 B b SIF RIS HT 3R U ST 8ial § a9 Ul 8¢ S
|
4. 51 el & ot SIaH R P TET § 98 o Rt 7R o1 oR € Uhsdl §
Question ID : 264330169198
Option 1 ID : 264330663585
Option 2 ID : 264330663583
Option 3 ID : 264330663586
Option 4 ID : 264330663584
Status : Answered

Chosen Option :

1




Q.24 FyfafEa § S1-a1 HRT &1 yafuard 7 272
Ans 1. IR

2. Riy
& 3. 7Y
4. A

Question ID :

Option 1 1D

264330169175

: 264330663498
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330663496
264330663495
264330663497
Not Answered

Q.25 FmfafEd § 9 o1 91 U@ W W1 BT ygigardt 78 82
Ans 1.9

2. 3T
3. [
4.37

Question ID :

Option 1 1D

264330169144

1 264330663377
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330663376
264330663375
264330663378
Not Answered

Q.26 FrofafEd # A frg areg § FArgaaras gd=mm gl oyl 82
Ans 1.g;ﬁ9{ﬁﬁﬁ|aﬂﬂaa1§?ﬂ

2. g femr g
3. $9d Tt TRRRI TR B Fhal §
4. Rig 71 B g9 T, 39 86 We o §

Question ID :

Option 1 1D
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330169189

: 264330663547

264330663550
264330663548
264330663549
Answered

4




Q.27 RRTT T ST YoTa @1 3 3-

Ans 1. ORI B ST
2. I axg § +ft Gy T
3. AT G &

4. 3R BT ST
Question ID : 26433062191
Option 1 ID : 264330243458
Option 2 ID : 264330243459
Option 3 ID : 264330243457
Option 4 ID : 264330243456
Status : Answered
Chosen Option : 4
Q.28 T 3T T B STt o1 & A 1’ — arF & b W F gyl R
Ans 1. P Tl
2. &gt o
3. T 3o §=
4. S1g o
Question ID : 26433062795
Option 1 ID : 264330245853
Option 2 ID : 264330245854
Option 3 ID : 264330245852
Option 4 ID : 264330245855
Status : Answered
Chosen Option : 3
Q.29 fufafEd arey- st & Ia afud HH B ugaH $9-
TRd &
Sfofar 3R R
ST & 1Y &
S
BT YU
e @
Ans 1. SHUfdT 3R QRIGA & SFTHT &1 YHTd S faRIfRd 8t mam o & 9y €
2. A & AT & 1Y g SR SHofdT SfR qR1a &1 gTa faRifed g man §
3. Sfiufar 3R QRIa &1 YHTd 98 & 1Y € faRifed &t mar o
4. FHI & T B SR ST I Sirofar 3R QR o1 wuTd foRifgd 81
Question ID : 264330169201
Option 1 ID : 264330663596
Option 2 ID : 264330663598
Option 3 ID : 264330663597
Option 4 ID : 264330663595
Status : Answered
Chosen Option : 2




Q.30 f3u T aTe § wged Y@ifed Tad fufdr e & ' w a8 e R gm—

Hd Io7d P 9= S 3 WS A
Ans 1.P)
2.9
3. gRI
& 4. B
Question ID : 26433062862
Option 1 ID : 264330246122
Option 2 ID : 264330246123
Option 3 ID : 264330246121
Option 4 ID : 264330246120
Status : Answered
Chosen Option : 4
Q.31 fEfifEa a9y &) wAyd® ue i ffgd vsg & W W 3R e for wv gerawy gui
Exd)
W FI @A § AR A G far g
Ans 1. d1d
o 2. 581
3. 39d
4. glal
Question ID : 264330169166
Option 1 1D : 264330663461
Option 2 ID : 264330663459
Option 3 ID : 264330663460
Option 4 ID : 264330663462
Status : Answered
Chosen Option : 2
Q.32 g¥ 3¢ A g¥ TgAT IR
Y@ifPd g & fad WUsg &1 I9 DI
Ans 1. 3UHR
2. gl
3. qar
& 4 b
Question ID : 26433062024
Option 1 ID : 264330242793
Option 2 ID : 264330242792
Option 3 ID : 264330242794
Option 4 ID : 264330242795
Status : Answered
Chosen Option : 4




Q.33 fufifEa e & | F9-91 I8 Y= 82
1. TRP! AN &R T §3?
2. g% g0 S0 T g%2
3. qH! 3 o T §%?

¢ 4 TR I R AT g2

Ans

Question ID : 264330164535
Option 1 ID : 264330645334
Option 2 ID : 264330645332
Option 3 ID : 264330645331
Option 4 ID : 264330645333
Status : Answered
Chosen Option : 4
Q.34 fgfafEd # | f5a e are § Wit wwa=h argfS 82
Ans 1. SRICEe BH Bidl o W8T B
2. dd ge TR
3. TR Aoht A Fgdt B
4. 95 GAT B TS |
Question ID : 26433062994
Option 1 ID : 264330246650
Option 2 ID : 264330246648
Option 3 ID : 264330246651
Option 4 ID : 264330246649
Status : Answered
Chosen Option : 3
Q.35 gl & Wl 3R MR B B FaT HTI-0F IR 81 TPl @ & 3 F it
3ifirep, Vst IT @ THTE fPU 51 9 1” ot W 5 2eg = g AE 72
Ans 1 TUdl®
2. MY
3. 3w
4. Mfaaest
Question ID : 264330164501
Option 1 1D : 264330645197
Option 2 ID : 264330645198
Option 3 ID : 264330645196
Option 4 ID : 264330645195
Status : Answered

Chosen Option :

1




Q.36 PofifEd & 19-91 S o1 qaraard) 2 981 872
Ans v 4 1. 3faufa

2. QU
3. 4
4. GRS
Question ID : 264330169173
Option 1 ID : 264330663490
Option 2 ID : 264330663487
Option 3 ID : 264330663488
Option 4 ID : 264330663489
Status : Answered
Chosen Option : 1
Q.37 Fmfaf@a 9w 1 wrgds 13 ok a9+ Saeh ofS &t ugam % 3 ot ol
YT W07 T 4T
Ans 1. 39! 10T FHmd T
2. 9% U e Tt
3. 39 T (e Ul
4. 3% 914 Fd mft|
Question ID : 264330169226
Option 1 ID : 264330663692
Option 2 ID : 264330663693
Option 3 ID : 264330663691
Option 4 ID : 264330663694
Status : Answered
Chosen Option : 3
Q.38 frgferfaa d | fra gt N uyared [d=TH BT TENT IS 872
Ans 1. 781 A g f gerg?
2. 3T @H H 71 99 38T 872
3. TS H&T H B el 3T 82
o 4. 3T TR ¥ 1 3§ Forey furerroft & e %8 82
Question ID : 264330169192
Option 1 ID : 264330663560
Option 2 ID : 264330663559
Option 3 ID : 264330663562
Option 4 ID : 264330663561
Status : Answered
Chosen Option : 4




Q.39 FmfafEd 9w o wrgds ue R faivor Hedt afs @ ueam w7 Y= 9w i

39 faeey & 99 9= 3T B
Ans 1. 39 faermag o s B

2. 39 oo & 94 o o §
3. 39 e # o 7= €

4. foam S T2 €
Question ID : 264330169221
Option 1 1D : 264330663672
Option 2 ID : 264330663671
Option 3 ID : 264330663674
Option 4 ID : 264330663673
Status : Answered
Chosen Option : 2
Q.40 ‘3 TS HeTar BT 3% 3-
Ans 1. AT TR1E AT
2. QRIS g1
3. G e WA
o 4. fqufy s
Question ID : 26433070071
Option 1 1D : 264330274764
Option 2 ID : 264330274766
Option 3 ID : 264330274765
Option 4 ID : 264330274767
Status : Answered
Chosen Option : 4
Q.41 R =@ | S1H-971 a7 Y 82
Ans 1. goofl H T TS B
2.1 & I8 ) PIf S & S B
3. 78 ufe! fieeh ¥ FAaad 31
o 4. U] HuT I T B9 79 T
Question ID : 26433063018
Option 1 1D : 264330246747
Option 2 ID : 264330246745
Option 3 ID : 264330246744
Option 4 ID : 264330246746
Status : Answered
Chosen Option : 4




Q.42 frfafed o # @ T 31 =R & Y= I ghe-
Ans 1ﬁﬁ¥lﬂ%ﬂ7?ﬂ'&pl
2. Farsf & wa @ B
3. it et & @ g @ §
4. T8 e 9gd Ialt g

Question ID : 264330169117
Option 1 1D : 264330663274
Option 2 ID : 264330663271
Option 3 ID : 264330663272
Option 4 ID : 264330663273
Status : Answered
Chosen Option : 4
Q.43 39 ATe® &1 g 9 TR I- a1 & e urT o amyfs 82
Ans 1 g IfRY
2. 3T
3. 39 AeH
4. e B
Question ID : 264330169124
Option 1 1D : 264330663301
Option 2 ID : 264330663302
Option 3 ID : 264330663299
Option 4 ID : 264330663300
Status : Answered
Chosen Option : 1
Q.44 Fmfaf@a I F1 ergds 1 3R g9 Taeh orgfS &t ugar #% 3 9t Rl
3ft @t Faa 9 To 3|
Ans o 1. 310 A Fad dF T § |
2. QTR &, T A o 3
3. 3fd i T g
4. 3 At Faat 14 o B
Question ID : 264330169225
Option 1 ID : 264330663687
Option 2 ID : 264330663689
Option 3 ID : 264330663688
Option 4 ID : 264330663690
Status : Answered

Chosen Option :

1




Q.45 frgfafd # A fFy are #§ 999 ogg 0 A wga 82 ugaH P
Ans 1. X A Yo 3R At T

2. W7 R-1R BT 7RI
3. TET 9ga I 91l 7 g

4. T8T HIF-BIT M2
Question ID : 26433063009
Option 1 1D : 264330246709
Option 2 ID : 264330246708
Option 3 ID : 264330246710
Option 4 ID : 264330246711
Status : Answered
Chosen Option : 1
Q.46 T+t B T | Y5 TR BT TI BT
Ans o 1.3qH § AIaRRY, Ry, SRR & g8 tRT §H10 g Ee 3
2. 7 SR H 98 I U4 ¢ b AT foreht 0761 7 Srae A
3. T At Y IRy at et oTget ot B
4. U HTSHR 1Y R &6 R § Id g1 Tl
Question ID : 264330168488
Option 1 ID : 264330660793
Option 2 ID : 264330660791
Option 3 ID : 264330660794
Option 4 ID : 264330660792
Status : Not Answered
Chosen Option : --
Q.47 i fAwedl § | $19 T TP a1 Tt B e J 3Rx 82
Ans 2 1. TSI BT IRRA PR
2. 981 DI YU B3 |
3. T o T |
4. qren A A
Question ID : 26433062565
Option 1 1D : 264330244950
Option 2 ID : 264330244951
Option 3 ID : 264330244948
Option 4 ID : 264330244949
Status : Answered

Chosen Option :

1




Q.48 ﬁﬁyﬁ@amﬁmﬂqﬂmuﬁmﬁﬁam%wwaﬁmwmwww
[

Torgdt & at 1 B oft TSRA I vsar B
Ans 7 1.90
2.9
3. g¥A
4. AATH
Question ID : 264330169167
Option 1 1D : 264330663463
Option 2 ID : 264330663466
Option 3 ID : 264330663464
Option 4 ID : 264330663465
Status : Answered
Chosen Option : 1
Q.49 H- e A faivor Vg F AR IR | Ffe 32 ugaw)
Ans gy 1 TTAED ﬁ'@w_agm. qﬁﬁ:{m
2. TUIaTae ARl — §eobl, arH
3. 3M1gf araes faRwor — g, IR
4. gRETUETEE faRwur - Ui fe eirer, &l der gy
Question ID : 264330164479
Option 1 1D : 264330645118
Option 2 ID : 264330645115
Option 3 ID : 264330645116
Option 4 ID : 264330645117
Status : Answered
Chosen Option : 1
Q.50 FafafEa g # Wwaare g8 Tl RS 8, 39 Y U 3T a9 -
<t i I9P! FETer
Ans 1. S S 9 feTa
o 2. Sl I A 5T
3. 99 i al T
4. it I ooft T
Question ID : 264330169191
Option 1 ID : 264330663557
Option 2 ID : 264330663556
Option 3 ID : 264330663555
Option 4 ID : 264330663558
Status : Answered
Chosen Option : 2




Q.51 frfafead & @ -9 a1 s 82
Ans 1. 98 o9 @ J ygdT &l
2. 39 999 & SR IR §o7 5
3. U819 PR Bl Fe Aeg B
4. TS uga TR g

Question ID : 26433062791
Option 1 ID : 264330245837
Option 2 ID : 264330245838
Option 3 ID : 264330245836
Option 4 ID : 264330245839
Status : Answered
Chosen Option : 3
Q.52 fafafEa el & Q $19 a1 Te 99 ad-t F = F s 82
Ans 1. Fom &1 oo A B
2. SO TSt §ard |
3. T8 U419 1T B
4. HTHEAR & TG JYAR ST 3|
Question ID : 26433062564
Option 1 1D : 264330244947
Option 2 ID : 264330244945
Option 3 ID : 264330244944
Option 4 ID : 264330244946
Status : Answered
Chosen Option : 2
Q.53 H-H1 919 B T 82
Ans 2 1. I HIgK Y el
2. TR BT I1MRT el |
3. TH-UdH HR WX ¢ 9|
4. 9I%Id 98 91 H 3l Bl
Question ID : 264330173208
Option 1 ID : 264330679323
Option 2 ID : 264330679324
Option 3 ID : 264330679326
Option 4 ID : 264330679325
Status : Answered

Chosen Option :

1




Q.54 & |OHTUT Wi A1 QT 1" AR b Y& T DT 99 fabedl § A SIfQI
Ans 1. 7 O fed 91 @R

2. B9 Y10 & SMYR TR T 36T |

3. 7 gymTor 3T SardT BT § |

4. % YU gard ST @1 E |

Question ID : 264330169171
Option 1 1D : 264330663482
Option 2 ID : 264330663481
Option 3 ID : 264330663479
Option 4 ID : 264330663480
Status : Answered
Chosen Option : 1
Q.55 frafafed & @ frw area & Wi e o1 7 g &0 3 fear mar g2
Ans 1. 3TIPHT TEHRIEE 9§ WRT B
2. T8I ST Sl S g
3. MR Y A IS B
4. T3 3fTuhT kg 76l @feul
Question ID : 26433063019
Option 1 1D : 264330246748
Option 2 ID : 264330246750
Option 3 ID : 264330246749
Option 4 ID : 264330246751
Status : Answered
Chosen Option : 2
Q.56 ST & SH G| I A STP-31eb 51 AN S ¢ aTed T Walfud Suge HH fvw
faea # four mar 82
Ans 1. 59 AN &1 S1-3teh fF IoHEd & X! B S §
2. ISR & E! B 99 I AN & -3t o §
3. 5! B T4 BNb-31eh i ISTHEd & AT gl S §
4. U IISHES & diF GW! BT Sip-3ldb TN & S &
Question ID : 264330173199
Option 1 ID : 264330679289
Option 2 ID : 264330679287
Option 3 ID : 264330679290
Option 4 ID : 264330679288
Status : Answered
Chosen Option : 2




Q.57 I YT HIS TP Goi & B9 Hd 3 I' TR & Y T b1 994 faweat & A FIRm|

Ans

1. T8 T T &oi &l §
2. U1 THTHT PIS TP Goid B P Hal 5|
3. TG P9 TP GoH bl b M-I 3|
4. I8T TP oA Hell B! IR B

Question ID : 264330169170
Option 1 1D : 264330663475
Option 2 ID : 264330663478
Option 3 ID : 264330663476
Option 4 ID : 264330663477
Status : Answered
Chosen Option : 1
Q.58 fmfifEa geray &1 vt e & | 5w arafare & g adte 82 999 sifvm-
Hed! Bt JHTH g
Ans 1. B3 G HTH HIA BT YT $HX al 37T T AT I 391 A &) b a8 T W7 g
RRERIRSIE]
2. 3TE 3 Y 31T (Ut FHall BT ST grax UG = {3 o @ oy
¢ 3. @ A Fuft forelt @ e A R, F3 TR B a1 ot 7 R, Afp e Iy R g
SIR-IR ¥ foreat X6t &, I § ST
4.3 plegnad A fFf R oy s dm e s
Question ID : 264330169196
Option 1 1D : 264330663577
Option 2 ID : 264330663575
Option 3 ID : 264330663578
Option 4 ID : 264330663576
Status : Answered
Chosen Option : 3
Q.59 3T Y 2sg &1 Ifa e 2sg gie-
IAE
Ans 1. "=
& 2. T
3. iR
4.37d
Question ID : 26433062035
Option 1 1D : 264330242839
Option 2 ID : 264330242837
Option 3 ID : 264330242838
Option 4 ID : 264330242836
Status : Answered
Chosen Option : 2




Q.60 fagferfEa ¥ @ frw arey ¥ wyaa e s = 82
Ans 1. QHIR ST

2. I8 9gd AHRON BT 51

3. it 1fian 39 FRiwy &t Wi

4. 37 HiadT B} IdT 9T o g

Question ID : 26433063020
Option 1 1D : 264330246754
Option 2 ID : 264330246753
Option 3 ID : 264330246752
Option 4 ID : 264330246755
Status : Answered
Chosen Option : 1
Q.61 THaad &1 e | e A I fre araa § eyl @-
Ans 1. AT R YR BT ASHhT TSI g
2. ¥ I TRIT Afd & UI01 T8F IS MW
3. YA Sit A UHdG WR St s fort B
4. T Uiz 7 A S
Question ID : 264330169019
Option 1 1D : 264330662882
Option 2 ID : 264330662880
Option 3 ID : 264330662881
Option 4 ID : 264330662879
Status : Not Answered
Chosen Option : --
Q.62 PafifEd § A frw oo area A Wit aw==h e 22
Ans 1. B U T B
2. I o1 1 81
3. g0 g@ars gt g
& 4. a9 3@ quft 1 Ay e <t 7
Question ID : 26433062990
Option 1 1D : 264330246633
Option 2 ID : 264330246632
Option 3 ID : 264330246635
Option 4 ID : 264330246634
Status : Answered
Chosen Option : 4




Q.63 YA® AT ST ATEa 1 - a1 F frm wmT A argfS 2
Ans 1. 99

2. Td®
& 3. 968
4. SfAT
Question ID : 264330169126
Option 11D : 264330663309
Option 2 ID : 264330663308
Option 3 ID : 264330663307
Option 4 ID : 264330663310
Status : Answered
Chosen Option : 4
Q.64 faw T 21sg &1 3 faeh =g ge-
Sy
Ans 1. 3fo[
2,99
3. SRl
4. a7
Question ID : 26433062034
Option 11D : 264330242833
Option 2 ID : 264330242834
Option 3 ID : 264330242835
Option 4 ID : 264330242832
Status : Answered
Chosen Option : 4
Q.65 fufifEd & & oH-91 s frew o1 wafgard 78t 82
Ans 1.99
2. RRwa
& 3.5
4. dR
Question ID : 264330168453
Option 11D : 264330660663
Option 2 ID : 264330660666
Option 3 1D : 264330660664
Option 4 ID : 264330660665
Status : Not Answered

Chosen Option :




Q.66 I TSI P W ERI PISUGPR PIEIG, a6 2l
Ans 1 ARIHS
2. RM
3. A
4.9 36‘ B
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

Comprehension:

19 TR & SR IR g8 Y U4 & SR giforg|
N T § 5 98 WWWW%HEG@H% N THT § o R ITDT STHR B
@%a's'ﬂﬁ DM DT ISR HAT B, BIF fHUBT HUHR IR 38T 8?2 T SN @R,

wﬁrwﬁﬂ%‘r e fauTdr &1 die 1 & Srgar | el ®1 I9 g firer o,
a@aeﬁé"rmﬁ% T2 fBret W1, FIs a1 a1, TG I A 8! g1 AT & Ugd™ Bl
YT afe T B, aﬁ@@@aﬁmaf‘maﬁﬁamm%@ﬁg@a‘rm%ﬁm%l
G 98 © freeT 9 a1 & §, gl 9 & Fordep! 5 tRa1 &1 RA B 1 312 § GRIHE
ald FORAT, IrgeTiRaT, 87 gordt | ot 17 3o =1 # 781 § 98] gUR & T %l Barac PRl g,
m@m%mﬁwww% TR 1 HEH & T ST ST 81 SR
foraraRl 9 god 81 98 axft 81 98 aRIR § | ST S Bt aRg TAR B [|HR, A Y
e ot 379 god B 1 O 1 €1 1T o wiwon wvan &: H ard & forw 3R 7 ol e g
& T o gTaT Tel AR, SUfere & 19 o) it T § 39 a%1 H R BT § 14 Heof U T W
IR} AT 3, A B 304 R YaAR g1 g ol | Tt forsr, g ea gl

SubQuestion No : 66

26433062271
264330243773
264330243774
264330243775
264330243772
Answered

1




Comprehension:

99 TR & SR TR g T U & IR
S T g fp a8 WWW?BT%HEG@H% S AT § o R SHBI TSR B
Q%%a’a’ﬂ-ﬁ DM DT ISR HAT B, BIF fHUBT HUHR IR 38T 8?2 T SN @R,

wﬁrwﬁﬂ%‘r e fauTdr &1 die 1 & Srgar | el ®1 I9 g firer o,
a@aaﬁé’raﬁ% T2 fBret W1, FIs a1 a1, TG I A 8! g1 AT & Ugd™ Bl
YT afe T B, aﬁ@@@aﬁmﬂ‘ma‘fﬁmm%@ﬁwa‘rm%ﬁm%l
G 98 © freeT 9 a1 & §, gl 9 & Fordep! 5 tRa1 &1 RA B 1 312 § GRIHE
ald FORAT, IrgeTiRaT, 87 gordt | ot 17 3o =1 # 781 § 98] gUR & T %l Barac PRl g,
m@m%mﬁwwm%mﬁwﬁ$mmm%l SR
foraraRl 9 god 81 98 axft 81 98 aRIR § | ST S Bt aRg TAR B [|HR, A Y
e ot 379 god B 1 O 1 €1 1T o wiwon wvan &: H ard & forw 3R 7 ol e g
& T o gTaT Tel AR, SUfere & 19 o) it T § 39 a%1 H R BT § 14 Heof U T W
IR} AT 3, A B 304 R YaAR g1 g ol | Tt forsr, g ea gl

SubQuestion No : 67

Q.67 AT frua Ao & TR o 38T 32

Ans

1. e 3t
2. 3faer faumar &t
3. 9IS B
4. 3O
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

26433062272
264330243777
264330243779
264330243778
264330243776
Answered

2




Q.68 ! a8 @8-
Ans 1. ST ST AR H 7
2. S IUBRI B
3. foraeer 7 fopft SR F A= A 71
4. 7 3UBRI B
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

Comprehension:

99 TR & SR TR g T U & IR
S T g fp a8 WWW?BT%HEG@H% S AT § o R SHBI TSR B
Q%%a’a’ﬂ-ﬁ DM DT ISR HAT B, BIF fHUBT HUHR IR 38T 8?2 T SN @R,

wﬁrwﬁﬂ%‘r e fauTdr &1 die 1 & Srgar | el ®1 I9 g firer o,
a@aaﬁé’raﬁ% T2 fBret W1, FIs a1 a1, TG I A 8! g1 AT & Ugd™ Bl
YT afe T B, aﬁ@@@aﬁmﬂ‘ma‘fﬁmm%@ﬁwa‘rm%ﬁm%l
G 98 © freeT 9 a1 & §, gl 9 & Fordep! 5 tRa1 &1 RA B 1 312 § GRIHE
ald FORAT, IrgeTiRaT, 87 gordt | ot 17 3o =1 # 781 § 98] gUR & T %l Barac PRl g,
m@m%mﬁwwm%mﬁwﬁ$mmm%l SR
foraraRl 9 god 81 98 axft 81 98 aRIR § | ST S Bt aRg TAR B [|HR, A Y
e ot 379 god B 1 O 1 €1 1T o wiwon wvan &: H ard & forw 3R 7 ol e g
& T o gTaT Tel AR, SUfere & 19 o) it T § 39 a%1 H R BT § 14 Heof U T W
IR} AT 3, A B 304 R YaAR g1 g ol | Tt forsr, g ea gl

SubQuestion No : 68

26433062273
264330243782
264330243780
264330243783
264330243781
Answered

1




Comprehension:

99 TR & SR TR g T U & IR

S T fb a8 mwmw%%&@u%ﬁﬁm%ﬁ?wwmm
Q%%H'E'ﬂ-ﬁ D [HYBT IUBR IRAT 8, I [HADT AUHR IR 6T 32 A it W13,
MWﬁﬁmﬁwﬁm$&wlmaﬁmwmm&,
a@aaﬁﬁwéaﬁﬁawaﬂéaﬁqﬁmaﬁa{mﬂﬁ%ﬁmaﬂ%ﬁl UgdH &1
aﬂ‘uﬂﬁuﬁw%aﬁ@@u@aﬁmafmaﬁﬁmm%@@ﬁg@a‘rm%ﬁm%l
G 98 © freeT 9 a1 & §, gl 9 & Fordep! 5 tRa1 &1 RA B 1 312 § GRIHE
ald FORAT, IrgeTiRaT, 87 gordt | ot 17 3o =1 # 781 § 98] gUR & T %l Barac PRl g,

m@m%mﬁwww% TR 1 HEH & T ST ST 81 £l

REl

foraraRl 9 god 81 98 axft 81 98 aRIR § | ST S Bt aRg TAR B [|HR, A Y
e ot 379 god B 1 O 1 €1 1T o wiwon wvan &: H ard & forw 3R 7 ol e g
& T o gTaT Tel AR, SUfere & 19 o) it T § 39 a%1 H R BT § 14 Heof U T W

IR} AT 3, A B 304 R YaAR g1 g ol | Tt forsr, g ea gl
SubQuestion No : 69
Q.69 g@ Yga™ BT JRAM ot et Terd € |- a1e § it weg &1 71 3R 872
Ans 1 fded
2. Faufa
3. 3fdd
4. H9q

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

26433062274
264330243785
264330243786
264330243784
264330243787
Answered

1




Comprehension:

99 TR & SR TR g T U & IR
SN TSI § b 9% GERT BT JUBR TR 6T § I8 @Y T, SN THAA § b GER ITPT 3UBR R
g ag | B fHTHT IUBR BT §, DI [HTBT UHR B IGT 82 A St @13,

el Sif 38T 8, 3 To0T 9 T, SiaeT fAUTdl o1 Ure1 & TR | fobdll 1 Io I e o,
TEd S| 1 8, To! A T, PIS 91 o, T I LM T ST A1feT ) & UgaH &
A T TTerd B, A g UgaH 1 HH Al i Ted 81 g ok g dl 9 & [awed g
gl 98 ¢ foraent 7 9= 9 3, 3l 98 © FOrehT 7 IRaW | WRaW 8 &1 31 ¢ GRIHG ],
1A FORAT, TrgapTe, 81 gort | foraeT 7 3o 91 # 7181 § 981 W & A T Baac Pl g,
3T Y fesum & ot fivear STEaR a8, GOl &1 B & fore it foreran B SR
firaraRt ¥ 4o 81 98 o= §1 98 R B 1 ST S 1 cRg HAR H 3§D, Iyl HTll b
e 2t I78 4o & | S 1 g Uifd 98 TN &=l §: B W@ & o oo 79 &1 waT ga
& T B guTdr el e, SUfere & 7 &1 Sfid T § 99 9% § R U1 {1 ool 3UH T R
Far R B, T BT 30 W FAR el g4 T | Al o, g/ e gl

SubQuestion No : 70
Q.70 TRA g T 3 T8 B-
Ans 1. TGHIRT
v 2. R KRl
3. afd AR

4. GG HRAT

Question ID : 26433062275
Option 1 1D : 264330243789
Option 2 ID : 264330243790
Option 3 ID : 264330243791
Option 4 ID : 264330243788
Status : Answered
Chosen Option : 2

Comprehension:

99 TR & SR R e U Uil & IR aiforu|

5 UeR forht 3ARA 3t (1) & fou Iua! fia T A ST TP ¢, I THR
it Iy 3R 3 T WfFa=el 3R Tuw s & e 98 &1 (2) GRIT BT 31 BT
SRSt B 1 3R T8 et a8 Tha & S Urufiies Rien W faRy ear faan S, i o
Tt fRien w g 3 e R 81 Tta Iafa & urufires fRen &1 dimeE 8 ga snyR gt gl
fIBR Tt e ¥9 & (3) FT HRRY FHRd U faufaenag srem smim &
et ot Sradiie BlaR! = 3t € Fal & fomr e & (4) Py of <= yif e
FR apharl Riem g (5) B T HR Ghell ¢ AR o= & TG 1 Gl 71 3T

g o e € e & WR &1 Ik i & Iy ufas ey g gl
SubQuestion No : 71
Q.71 IuPad § U a1 Vg A o = (1) 3t gfd S
Ans 1. fagfa
2. Ui
o 3. oI
4. =fdq

Question ID : 26433062713
Option 1 1D : 264330245535
Option 2 ID : 264330245534
Option 3 ID : 264330245532
Option 4 ID : 264330245533
Status : Answered
Chosen Option : 3




Q.72

Ans

Comprehension:

99 TR & SR TR g T U & IR

5 UeR forht TaRa @t (1) & foru Iwe! fia BT AT ST SHTIRTD ¢, I PR
ot W 3R 3w ) WiTITEN 3R WUw s $ R agi 1 (2) HERIT BT 3 BT
T 81 3R T8 quft Wa B wha © S Tnufiies e W faiy e femm Simg, e S
Trafires Riem w8 3= e ik 31 3t Safa & vrufiie Rien &1 avreF € 9a snur giar gl
faeR mufte e u & (3) BT HRRH Hd gU fayfaeners srgar SmanT &
3feges off Sradiie BN 3 31 € He b famm Ren ¥ (4) fru 31E ot =1 wrfay =i
IR Tl e & (5) ! Tl HR el ¢ AR o H THfs o Gl g1 3T B
g o T g e & TR &1 Ik i & I ufs Iy g gl

SubQuestion No : 72

faweal ¥ A Iugad Msg B fYad RIM (2) B gff Fiforg)
1.9499
2. %4
3. e

4.5d

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

26433062714
264330245536
264330245538
264330245537
264330245539
Answered

3

Q.73

Ans

Comprehension:

9 T F SR W I T U & IR <o
o TR sl SR BT (1) & T IT®! Hid 1 HeIgd B TP 8, I8 TR
fopit Ay 3R <2 I fGa=mTed SR Yud 7 & forg I8t &1 (2) AT BT 3G BT

T B 3R I8 qft UG B Uhar § oie Uil e w ARy e faar s, i o
Trafires Riem w & 3= e Rk 71 3 3afa & wrufiie Rien &1 avmes € 9a snur g gl
faeR mufte e ¥g & (3) BT HRRY HRd gU fAyfdenay sreH M &
3fegef o Aadiie BN 3 &1 € be fob famm e & (4) fru oIS oft =1 yify =1
PR qharl e g (5) ! T B UHl! & 3R o | THfes o Fohehl g | 3T B
g & gage € e & wR &1 I8 TGS F 9y uiy Sey § gl

SubQuestion No : 73

AU Teg BT 31 Yhe B 9T UGS g o N =AM (3) F1 gk i)
1. BT
2. PRY
3. 99q
o 4. 3IaRE
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

26433062715
264330245540
264330245541
264330245543
264330245542
Answered

4




Q.74
Ans

Comprehension:

99 TR & SR TR g T U & IR

5 UeR forht TaRa @t (1) & foru Iwe! fia BT AT ST SHTIRTD ¢, I PR
ot W 3R 3w ) WiTITEN 3R WUw s $ R agi 1 (2) HERIT BT 3 BT
T 81 3R T8 quft Wa B wha © S Tnufiies e W faiy e femm Simg, e S
Trafires Riem w8 3= e ik 31 3t Safa & vrufiie Rien &1 avreF € 9a snur giar gl
faeR mufte e u & (3) BT HRRH Hd gU fayfaeners srgar SmanT &
3feges off Sradiie BN 3 31 € He b famm Ren ¥ (4) fru 31E ot =1 wrfay =i
IR Tl e & (5) ! Tl HR el ¢ AR o H THfs o Gl g1 3T B
g o T g e & TR &1 Ik i & I ufs Iy g gl

SubQuestion No : 74

Ity F Iugad faeiy 2sg & frad wIF (4) A gfd S
1. TR
2. Tgfd
o 3.3 d
4, g
Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :
Chosen Option :

26433062716
264330245546
264330245544
264330245547
264330245545
Answered

1

Q.75

Ans

Comprehension:

9 T F SR W I T U & IR <o
o TR sl SR BT (1) & T IT®! Hid 1 HeIgd B TP 8, I8 TR
fopit Ay 3R <2 I fGa=mTed SR Yud 7 & forg I8t &1 (2) AT BT 3G BT

T B 3R I8 qft UG B Uhar § oie Uil e w ARy e faar s, i o
Trafires Riem w & 3= e Rk 71 3 3afa & wrufiie Rien &1 avmes € 9a snur g gl
faeR mufte e ¥g & (3) BT HRRY HRd gU fAyfdenay sreH M &
3fegef o Aadiie BN 3 &1 € be fob famm e & (4) fru oIS oft =1 yify =1
PR qharl e g (5) ! T B UHl! & 3R o | THfes o Fohehl g | 3T B
g & gage € e & wR &1 I8 TGS F 9y uiy Sey § gl

SubQuestion No : 75

o el ¥ @ Uy 2rsg gAa fYaa RIM (5) @ g Fifsrgi
1. ¥MIq
2. JATfcrare
3. d¥ddlq
o 4. FHISIAIG
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

26433062717
264330245549
264330245550
264330245551
264330245548
Answered

2




Comprehension:

99 TR & SR R g Y Uil & IR aifor|

TS T TAdR Bt 4R (1) 81 3R 3T YR T ciievrdT § a9 98 dadR HA g g Bt
B, 307 B F 31 (2) Rz el 81 399 fawid, afe <9 aoar @ yR W g,

3) ?), d9 98 doaR O 31 €1 J T 8, gAR h 1 31 78 8 ghdl g1 34t

UPR, IfS feht &1 o € % 8 T ), o 9 vy e W oft SR 7, |iF (4)
ogfa a it STR HIS BT SR 16l R Tobdl 8, TR Ueh ARAYY HIS U 1Y g arai o ot
3T B I TR AR 3rafd TS (5) % YOI g T ohd gl 7

SubQuestion No : 76
Q.76 {4y fawent o | Iugad e gD Raad I (1) F1 gfd Hifkm)

Ans 1.3
2. ARFSH
3. ARFaH
4. IRFYY
Question ID : 26433062719
Option 1 ID : 264330245553
Option 2 ID : 264330245552
Option 3 ID : 264330245555
Option 4 ID : 264330245554
: Answered
Chosen Option : 1
Comprehension:
99 TR & SR TR YR T U & IR G
TS T dAdR Bt R (1) 81 3R 39 YR H Te0rd § 7 98 AeaR 4l g1 Aig BT
B, 3 o1 F 3l (2) Rrg 1 81 399 fawdid, afe 39 aefaR @t YR A &,
() Bl q9dg ddaR I B € 1 7 81, AR [ e B e ) Tebdl 71 35
TR, TS, et obt IR €1 8 €1 7 &Y, Y 98 HIs e 9 ot wewk 8, il (4)
Sgfa a it STR HS T SR 16l R TobdT 8§, TR Uh ARAYT HIST U 1Y g arai o it
A IMRAGR MAAATE(5) & Y@ T3 H gobdl Gobdll g
SubQuestion No : 77
Q.77 IR HA qTAT FT A4 Yhe HA AT Mg A Naa I (2) F1 gfed i)
Ans 1 BRI
2. HRIE
3. HRAM
4. PRETS
Question ID : 26433062720
Option 1 1D : 264330245559
Option 2 ID : 264330245558
Option 3 ID : 264330245557
Option 4 ID : 264330245556
: Answered

Chosen Option : 1




Comprehension:

99 TR & SR TR g T U & IR

T F 0 d0dR BT 4R (1)

21 3R 39 YR H fevran g 99 98 dadR ¥ 8§l dig 1

B, 307 B F 31 (2) g 81t 31 399 faudia, afe 39 daar &t 4R A &Y,
3) g1, 9 98 JaR I 1 € & 71 81, gAR Tt e ) Y 8 T 21 g2t

UBR, TTe (6 1 = & Y 8 T 8, A a8 I 1S A oft 9ewR 8, i (4)

fe @ ot SfR ST &1 SRT T8 IR THll 7, W TS TRAYY TS U T1 Ig arent b1 ot
3T B I TR AR 3rafd TS (5) % YOI g T ohd gl 7

SubQuestion No : 78

Q.78 “YEP Teg P SUGa & A R R (3) Bt gfef e

Ans

1. Yg
2. YeI

o 3.l
4. vfeaf

Option 4 ID

Question ID :
Option 11D :
Option 21D :
Option 31D :

26433062721

264330245560
264330245561
264330245562

: 264330245563
Status :
Chosen Option :

Answered
1

Comprehension:

99 TR & SR TR YR T U & IR G

T 0 dddR BT 4R (1)
B, 30 B F 3P (2)

21 SR 39 YR H clevra § 99 98 daaR ¥ g Ag B

g 2l ®1 399 fudia, 1t 39 IaaR &t YR A1 |,

3) g1, d9 98 JaR T4 1 &) o 7 81, gAR Tt ore ) Y 8 T 21 g2t

TSR, T1e [ 1 =i & ¥ 8 T 8, df a8 I 1S & oft 9awR 8, Fifd (4)

e T ot SfR TS &1 T 18T IR THll 7, W TS IRAYY TS U T1 35 arent 1 ot
3T B I TR AR 3rafd TS (5) % YT g T b d g g

SubQuestion No : 79

Q.79 Rigr s & waluged faey e | fraa wH (4) #Y gff Fifsro)

Ans

& 1.3l
2. °HU]
3. dIRI

4.73d

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

26433062722

264330245565
264330245567
264330245564
264330245566

: Answered
Chosen Option :

1




Comprehension:

99 TR & SR TR g T U & IR

T U} IeaR BT ¥R (1) §1 3R 39 ¥R H f&0Te § 76 98 d0aR Wl 81 g Bt
B, 30 B 7 3P (2) g 81t 31 399 faudia, afe 39 daar &t 4R A &Y,
() B q998 dq9R 91 ®1 & 71 7 8, TR Bl o ) e 8 Tepat 71 34
TR, T [ b1 9 € T8 &1 T &Y, ot 9 A g 9 ot wewR @, i (4)
ogfa a it STR HIS BT SR 16l R Tobdl 8, TR Ueh ARAYY HIS U 1Y g arai o ot
3T B I TR AR 3rafd TS (5) % YOI g T ohd gl 7
SubQuestion No : 80

Q.80 IRa yfew 2rsg A Raa W (5) F1 gl Fiforw)

Ans 1. 9T

2. g
W 3. TR

4. gagfy

Question ID : 26433062723
Option 11D : 264330245571
Option 2 ID : 264330245569
Option 3 ID : 264330245570
Option 4 ID : 264330245568
Status : Answered
Chosen Option : 3

Comprehension:

T T & Ugax 39U STYR W I T U4 & IR gifors-

TS &1 T Hifdemard! o1 1 a7 TR 3 Sitae &1 TR 9 J&it §911 & o U 9 Sgan Ud
SHIHR TR ST & | TS B & 1T 3111 = IJuarsd & | AR & 377 T1e Bl @ahs gR ot
1 G BT STHIT HIT 18l 8| SH HRUI 0 7 H HIFd 1 Hgaldwian & 3d 3G g8 ¢
A% i G I B3 P [T SARIBTS e U Hd B a8l & | IaAH 9og § Ay &
3 N B a-GfawT & ifAHT TTe TeoTdT ¥ Iuas § W 37 o & ot ot oft gt
g &1 SUBT HRUI YA BT 3HTT 7| T e & U afe ga-gfaer &1 surd oft g, aa ot
98 ! 1 ¢ | TP Td Bia 7 31 81 el ¢ 918 s foal e, Fga1 SuRarg | forae! &g 1
TR, A &l B | .

fad & gad W YW Bt UG SR 81 &1 STt Jad foiamd fire ot 8 1 4 & ufie aife
AR T HRIRI 1t TAYGRY & SR g o fay H1 afferes it safdd srva a1
T3y o iR A Te YR T 4 g1 s 98 I98 $@ it A o1 Iad 3 2id Wia 9 &g %
T foreht oft avg Y rrpie TS §1 Hod HH <N BY Ul THIE 3heR A FIS Iged a¥g T B
FgT, fhg $U < A Fg1 o5 38 [l g Y siaxageh 71 § O off ware afe os o amsd
TA Y ufawr B 3T 307 Fidhe JA &7 ST 7 B3| Jdrs e s 3 fed gian 8, ag fanft
J g =gt Tl 3% forw I &1 Fafg HRAT TR a1 B 1 31ch: gl off Tobell § 3 Yy &
RH ¢ ¢ 3R e U I8 S ed o 51l &, T sifa- & Fodl G YT el g

SubQuestion No : 81
Q.81 SR RY 7T Y & Rie waifte Sugad s 2-
Ans 1. 781 918 981 X%
& 2. Tay 1A e
3. A 3R =i
4. f99H T RGH

Question ID : 264330173224
Option 1 ID : 264330679376
Option 2 ID : 264330679377
Option 3 ID : 264330679378
Option 4 ID : 264330679375
Status : Answered
Chosen Option : 2




Comprehension:

FrafRad TR B Tedh IUP SHTYR W I U U4l & 3T gifole-

3Tl &1 T Hifdemard) 371 81 a7 TR 3 Sitae &1 TR 9 J&it 91 & o T O Sgan Ud
HIHR TR ST & | TS B & 1w 3111 = IJuersd & | 3R & 377 T Bl @aHh gR ot
1 Al 37HT STHRT HAT ATedl ¢ | T BRI 9 7T H AMd B Hgdidhig & 3 af g5 ¢
AP i G I B3 P [T SARIBTS e U HId B a1edl & | JaAH 9og § fay &
3 R & a-gfaeT & ifAHT TTe TeoidT ¥ Iuds § W 37 o=l & et ot oft gt
g &1 SUDBT HRUT YA BT UG 8| T e & Uy afe ga-gfaer &1 srurg oft 8), a9 oft
95 JuI 3641 5| TP Ad $Id A 31 g1 el § 416 T3 fodl 1S, HIaT SuRarg | o &g 1
Bl R RG] _

fad & gad T YW Bt UG SR 81 &1 STt Jad foiamd fire oireht 8 1 S & ufie aife
AR TUT HRIRI 1t TAYGRY & SR g o fay H1 afferes it safdad srva a1
T3y faoia Riber 1 T WRANT |d I $al b a6 I8 $© H HiFT | T A 2id H1a 4 Fg1 b
T foreht oft avg Y i TS §1 Yo SH <N &Y Ul THIE 3heR A FIS Iged a¥g HiTA B
FgT, fhg $HF < A FgT 5 3 [l g Y siaxgehat -1 § O off ware afe os g amsd
T yfewr A 3% oA Fiepe oM BT 31TE 7 Y| Yo s arerar § e gar 8, 78 et
J gt At STl 3% forw I &1 Fafe H3A1 TR a1 § 1 31ch: gl off Tohell § 3 Yy &
A ¢ ¢ 3R e U I8 S ed o 51l &, T sifa- & Fodl G T el o

SubQuestion No : 82

Q.82 fPofufla d & Jardt safda Far =18 gare

Ans

1. frffes

o 2. T - faam # fora
3. I &1 f1afg & aran
4. e 9 Med

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

264330173228
264330679392
264330679393
264330679394
264330679391
Answered

2




Comprehension:

FrafRad TR B Tedh IUP SHTYR W I U U4l & 3T gifole-

3Tl &1 T Hifdemard) 371 81 a7 TR 3 Sitae &1 TR 9 J&it 91 & o T O Sgan Ud
HIHR TR ST & | TS B & 1w 3111 = IJuersd & | 3R & 377 T Bl @aHh gR ot
1 Al 37HT STHRT HAT ATedl ¢ | T BRI 9 7T H AMd B Hgdidhig & 3 af g5 ¢
AP i G I B3 P [T SARIBTS e U HId B a1edl & | JaAH 9og § fay &
3 R & a-gfaeT & ifAHT TTe TeoidT ¥ Iuds § W 37 o=l & et ot oft gt
g &1 SUDBT HRUT YA BT UG 8| T e & Uy afe ga-gfaer &1 srurg oft 8), a9 oft
95 JuI 3641 5| TP Ad $Id A 31 g1 el § 416 T3 fodl 1S, HIaT SuRarg | o &g 1
Bl R RG] _

fad & gad T YW Bt UG SR 81 &1 STt Jad foiamd fire oireht 8 1 S & ufie aife
AR TUT HRIRI 1t TAYGRY & SR g o fay H1 afferes it safdad srva a1
T3y fosraT iR A Te YR T & a1 s 98 I98 $& i A o1 Ia 3 2id Wia 9 Fe1 %
T foreht oft avg Y i TS §1 Yo SH <N &Y Ul THIE 3heR A FIS Iged a¥g HiTA B
FgT, fhg $HF < A FgT 5 3 [l g Y siaxgehat -1 § O off ware afe os g amsd
T yfewr A 3% oA Fiepe oM BT 31TE 7 Y| Yo s arerar § e gar 8, 78 et
J gt At STl 3% forw I &1 Fafe H3A1 TR a1 § 1 31ch: gl off Tohell § 3 Yy &
A ¢ ¢ 3R e U I8 S ed o 51l &, T sifa- & Fodl G T el o

SubQuestion No : 83

Q.83 Y= Treg 1 AT 2-

Ans

1. ST
2. UrH
3. 0%
o 4.4d
Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

264330173226
264330679385
264330679383
264330679384
264330679386
Answered

4




Comprehension:

FrafRad TR B Tedh IUP SHTYR W I U U4l & 3T gifole-

3Tl &1 T Hifdemard) 371 81 a7 TR 3 Sitae &1 TR 9 J&it 91 & o T O Sgan Ud
HIHR TR ST & | TS B & 1w 3111 = IJuersd & | 3R & 377 T Bl @aHh gR ot
1 Al 37HT STHRT HAT ATedl ¢ | T BRI 9 7T H AMd B Hgdidhig & 3 af g5 ¢
AP i G I B3 P [T SARIBTS e U HId B a1edl & | JaAH 9og § fay &
3 R & a-gfaeT & ifAHT TTe TeoidT ¥ Iuds § W 37 o=l & et ot oft gt
g &1 SUDBT HRUT YA BT UG 8| T e & Uy afe ga-gfaer &1 srurg oft 8), a9 oft
95 JuI 3641 5| TP Ad $Id A 31 g1 el § 416 T3 fodl 1S, HIaT SuRarg | o &g 1
Bl R RG] _

fad & gad T YW Bt UG SR 81 &1 STt Jad foiamd fire oireht 8 1 S & ufie aife
AR TUT HRIRI 1t TAYGRY & SR g o fay H1 afferes it safdad srva a1
T3y faoia Riber 1 T WRANT |d I $al b a6 I8 $© H HiFT | T A 2id H1a 4 Fg1 b
T foreht oft avg Y i TS §1 Yo SH <N &Y Ul THIE 3heR A FIS Iged a¥g HiTA B
FgT, fhg $HF < A FgT 5 3 [l g Y siaxgehat -1 § O off ware afe os g amsd
T yfewr A 3% oA Fiepe oM BT 31TE 7 Y| Yo s arerar § e gar 8, 78 et

F ymdia T2 BT ST fory I o1 fHiafe o1 TR BT 81 31d: HeT o Yhell ¢ fob T &t

A ¢ ¢ 3R e U I8 S ed o 51l &, T sifa- & Fodl G T el o

SubQuestion No : 84
Q.84 mﬁ%?msﬁwammﬁm%mmﬁﬁwmiﬁﬁ%mﬁmm
TTEAT 82

Ans 1.@3{6[%?%@5@
2. Mifdedmare & 7ed &
3. SfATYFD TR & HEd Bl
4. IS Yl &b Aed B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
Chosen Option :

264330173227
264330679388
264330679387
264330679390
264330679389
Answered

1




Q.85

Ans

Comprehension:

FrafRad TR B Tedh IUP SHTYR W I U U4l & 3T gifole-

3Tl &1 T Hifdemard) 371 81 a7 TR 3 Sitae &1 TR 9 J&it 91 & o T O Sgan Ud
HIHR TR ST & | TS B & 1w 3111 = IJuersd & | 3R & 377 T Bl @aHh gR ot
1 Al 37HT STHRT HAT ATedl ¢ | T BRI 9 7T H AMd B Hgdidhig & 3 af g5 ¢
AP i G I B3 P [T SARIBTS e U HId B a1edl & | JaAH 9og § fay &
3 R & a-gfaeT & ifAHT TTe TeoidT ¥ Iuds § W 37 o=l & et ot oft gt
g &1 SUDBT HRUT YA BT UG 8| T e & Uy afe ga-gfaer &1 srurg oft 8), a9 oft
95 JuI 3641 5| TP Ad $Id A 31 g1 el § 416 T3 fodl 1S, HIaT SuRarg | o &g 1
Bl R RG] _

fad & gad T YW Bt UG SR 81 &1 STt Jad foiamd fire oireht 8 1 S & ufie aife
AR TUT HRIRI 1t TAYGRY & SR g o fay H1 afferes it safdad srva a1
T3y faoia Riber 1 T WRANT |d I $al b a6 I8 $© H HiFT | T A 2id H1a 4 Fg1 b
T foreht oft avg Y i TS §1 Yo SH <N &Y Ul THIE 3heR A FIS Iged a¥g HiTA B
FgT, fhg $HF < A FgT 5 3 [l g Y siaxgehat -1 § O off ware afe os g amsd
T yfewr A 3% oA Fiepe oM BT 31TE 7 Y| Yo s arerar § e gar 8, 78 et
J gt At STl 3% forw I &1 Fafe H3A1 TR a1 § 1 31ch: gl off Tohell § 3 Yy &
A ¢ ¢ 3R e U I8 S ed o 51l &, T sifa- & Fodl G T el o

SubQuestion No : 85
Wfawardt 9 Id TS FRUT TGS 2
o 1. 99 - UM & 9iedl 4 gfg
2. AT HI Ughi # g
3. 4N & g gfG
4. 99 , ¥dy g wifa ¥ gfg

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

264330173225
264330679381
264330679379
264330679380
264330679382
Answered

1




Q.86

Ans

Q.87

Ans

Comprehension:

FrafRad TR B Tedh IUP SHTYR W I U U4l & 3T gifole-

fod) e sfsma @1 IR Wil & sfer T § - snfeeTa, widaem, Afder, styfe Hral
yiFaPTIar P f3dl e &1 WoleTd Hgl oI & | HiddaTe TE Hiddl # 7, FeR, gaw,
St W snfe 1 A form STdn 81 59 9§ $ia YRE™ ot I B el SHaT? Hidddrd &
FUNINS HJ TRl YRUNR, JWIRTT, TMied Te<T TS BT S TorT it g
I fear 31 377% Ul & areied, §TTR TS 1id 79 & UG U 81d & | dTeied 39 & a1 wgarmd &
| 3% foTu FgT 71T § 3 R W gl It ISTH AT | F HTBTU & AT Hid § | I75
HT B FARAT IUDT AT § | ISP HRABHR T STorHT H ureht 5ircht §, FHe-hdt R Wpa
T BRI YTV & Teg 1t U1 S & | DT Ia13it H Sy, THh, Tay, JudT, Iaer nfe wft
SAFR IR ST § | 3 STty A Aft I Ut B S quiF U Sl §, 98 Foild g | UhT @ gt
e & fr 3 oty 91 It B 1580 3. H g% Y1 T wifes S & 9 wea SR @

SubQuestion No : 86

fFrafafaa & 3 9149 svon & $fa §2
1. gadtar
o 2. al™
3. HIAEN
4. FIR
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Comprehension:

fAfEd TR 1 UgdHR I YR TR I T Ui & IR gIfom-

fe<t wnfec 3foema &Y IRy & sfer a1 § — snfewra, fddeTa, AT, snyfe Fra|
U & &l Tt o1 Wulfere w1 Sar 8| HiddewsTe U Saal § IR, HeRR, gash,
Srerft, R snfe 1 A ferm ST 81 39 § Hfa YRer™ ot &1 i el SHaT? Hidddra &
PG HiJ Gl GIUNR, WIRTTA, Tied TG SIS BT S0 o et afg
! feam g1 3% Ul & areied, $TTR TS RMid 79 & UG U 81d & | d Ieied X9 & ] Hgarmd 8
| 31 foTT FgT 11 § o R TR Jaht it IS HRAGHT' |  SHTBTY & JAIT Hid § | IAD
HT B AR ID! T | ISP SHABHR T FOIHTS H UrRf Sl &, FE-del IR W
T BRI UV & Weg 1t U1 S § | ST Xa13it H Sy, THE, TN, JUAT, el nfe wft
JABR U 1A § | 3 STy A At 39 Ut § S qUiF Ut ST §, 98 Toid o | U1 aTa gt
TET 8 fb 3 wiY Q1 It 7 1580 3. 7 &% Y1 &) wnfec Svia 9 wea sAR

SubQuestion No : 87

TR FI IS W WHE: HIF-HT I TE) YR SATe?
1. dicHg
2. TR
3. 90id
& 4. S
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330164745
264330646120
264330646121
264330646122
264330646119
Answered

2

264330164747
264330646129
264330646127
264330646130
264330646128
Answered

4




Q.88

Ans

Q.89

Ans

Comprehension:

FrafRad TR B Tedh IUP SHTYR W I U U4l & 3T gifole-

fod) e sfsma @1 IR Wil & sfer T § - snfeeTa, widaem, Afder, styfe Hral
yiFaPTIar P f3dl e &1 WoleTd Hgl oI & | HiddaTe TE Hiddl # 7, FeR, gaw,
St W snfe 1 A form STdn 81 59 9§ $ia YRE™ ot I B el SHaT? Hidddrd &
FUNINS HJ TRl YRUNR, JWIRTT, TMied Te<T TS BT S TorT it g
I fear 31 377% Ul & areied, §TTR TS 1id 79 & UG U 81d & | dTeied 39 & a1 wgarmd &
| 3% foTu FgT 71T § 3 R W gl It ISTH AT | F HTBTU & AT Hid § | I75
HT B FARAT IUDT AT § | ISP HRABHR T STorHT H ureht 5ircht §, FHe-hdt R Wpa
T BRI YTV & Teg 1t U1 S & | DT Ia13it H Sy, THh, Tay, JudT, Iaer nfe wft
SAPHR IR S § | F 1Y & Afp1 I UGl § St JUI UrdT oiTell &, 98 Tond o | U1 eIt g
e & fr 3 oty 91 It B 1580 3. H g% Y1 T wifes S & 9 wea SR @

SubQuestion No : 88

fFafifEa & / FF-0 T e i T8 82
1. ARG
2. AR
3. gifg @igdl
o 4. TS
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Comprehension:

fAfEd TR 1 UgdHR I YR TR I T Ui & IR gIfom-

fe<t wnfec 3foema &Y IRy & sfer a1 § — snfewra, fddeTa, AT, snyfe Fra|
U & &l Tt o1 Wulfere w1 Sar 8| HiddewsTe U Saal § IR, HeRR, gash,
Srerft, R snfe 1 A ferm ST 81 39 § Hfa YRer™ ot &1 i el SHaT? Hidddra &
PG HiJ Gl GIUNR, WIRTTA, Tied TG SIS BT S0 o et afg
! feam g1 3% Ul & areied, $TTR TS RMid 79 & UG U 81d & | d Ieied X9 & ] Hgarmd 8
| 31 foTT FgT 11 § o R TR Jaht it IS HRAGHT' |  SHTBTY & JAIT Hid § | IAD
HT B AR ID! T | ISP SHABHR T FOIHTS H UrRf Sl &, FE-del IR W
T BRI UV & Weg 1t U1 S § | ST Xa13it H Sy, THE, TN, JUAT, el nfe wft
JABR U 1A § | 3 STy A At 39 Ut § S qUiF Ut ST §, 98 Toid o | U1 aTa gt
TET 8 fb 3 wiY Q1 It 7 1580 3. 7 &% Y1 &) wnfec Svia 9 wea sAR

SubQuestion No : 89
RN & FTHIY g TR Tl I g1 giar?
1. Fiifes 35 AIfed B Y Bt |
S 2. T IT! TSN T Sdd TohadT g
3. F{If% I HidawId & IPHy Hia
4. TP I AT X9 & T wgam g1

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330164744
264330646117
264330646116
264330646118
264330646115
Answered

4

264330164746
264330646123
264330646126
264330646124
264330646125
Answered

2




Comprehension:

FrafRad TR B Tedh IUP SHTYR W I U U4l & 3T gifole-

fod) e sfsma @1 IR Wil & sfer T § - snfeeTa, widaem, Afder, styfe Hral
yiFaPTIar P f3dl e &1 WoleTd Hgl oI & | HiddaTe TE Hiddl # 7, FeR, gaw,
St W snfe 1 A form STdn 81 59 9§ $ia YRE™ ot I B el SHaT? Hidddrd &
FUNINS HJ TRl YRUNR, JWIRTT, TMied Te<T TS BT S TorT it g
I fear 31 377% Ul & areied, §TTR TS 1id 79 & UG U 81d & | dTeied 39 & a1 wgarmd &
| 3% foTu FgT 71T § 3 R W gl It ISTH AT | F HTBTU & AT Hid § | I75
HT B FARAT IUDT AT § | ISP HRABHR T STorHT H ureht 5ircht §, FHe-hdt R Wpa
T BRI YTV & Teg 1t U1 S & | DT Ia13it H Sy, THh, Tay, JudT, Iaer nfe wft
SAPHR IR S § | F 1Y & Afp1 I UGl § St JUI UrdT oiTell &, 98 Tond o | U1 eIt g
e & fr 3 oty 91 It B 1580 3. H g% Y1 T wifes S & 9 wea SR @

SubQuestion No : 90
Q.90 fofafed & @ $i-a1 R wift &1 we ur =g 32
Ans 1. 3NYFD BIet

2. Jfawra
JS.W
4. 3T

Question ID : 264330164743
Option 11D : 264330646114
Option 2 ID : 264330646111
Option 3 ID : 264330646112
Option 4 ID : 264330646113
Status : Answered
Chosen Option : 3

Comprehension:

fAfEd TR 1 UgdHR I YR TR YL T Ui & IR gIfom-

TR U 08 §1 39 B § I J1dfa BT fasr o ST &, St 3R &1 UgaHdl g | 98
AR TR o I8 F ST dedl 8, Ia- 8 I8 ¥ 31Uy & Toy Ui g¢ Sl 8| 98 dR g3y
1Y BT P 8T & SR 3ReT I A1 W a9 & all & anl Bl 2|

R 29 AgH & Hi-wift U8 R oft 9 €, S 3/avR R FeH 9gH1 9 |; e Tabe |

W g1 16l 9 | 3 R g2y fawrg &1 <ifd ot e g7 3d &1 3 S0 I 1 91 fier &,
ﬁﬁwwwq@w%aﬁﬁm%qmlwaﬁéﬁwﬁwéﬁﬁﬁmw
A1 5; g U: IAB! BR o § 4t 31 TRaTeH Biell 81 SR SFgHaRiier Yafd g &1
%m%ﬁmm@méﬁaﬁ,ﬁgaﬁsﬁmﬁmﬁw%uﬁﬁwm% 3R
IP ged W A 1Ra B 3ifbd B ar gl

SubQuestion No : 91
Q.91 IR &7 # A faer ura g 22
Ans 1. S 1 BT 1 T 3 g

2. 5t fawra &1 Aifg @t e Ter 3 3
3. Sl i e 18! oFd |
& 4. ST AR UgId g

Question ID : 264330173218
Option 11D : 264330679358
Option 2 ID : 264330679357
Option 3 ID : 264330679355
Option 4 ID : 264330679356
Status : Answered
Chosen Option : 4




Comprehension:

e TR 1 Ugah IUP YR W Y T U & IR aiford-

TR U 018 §1 59 A § I J1dfa &Y fasr o gidT 8, S 3awR &1 Ugadl g1 98
AR TR S I8 F 3T Fedl §, I & I8 W MU & w9y YIS 8¢ a1 31 98 dR I3y
1y 1 AT giaT § 3R 3BT 3% 919 W I & Fal &) auf Far |

R 39 HeM & Hiii-eH 08 Rurd) 1 S €, S 3/avR W HeH 9g1 WiFd ©; e Tebe H
Ui Fe T8 a3 urdR gy faor &1 i e Fgr 3d ¥ 9 o I 1 A frer &,
fahg STef U IR U 7T & 98T I Hed Ui 7 gertil | 30 HIS favan & TOR-8 # fsta
FAT &; fohg Ura: 3! BR faora § oft 31fies TiRaTed® gt 1 3R Sryasita SHafd 78t
fa STeraT B, 1 S TR A1 A aTdt, Hg 1 Tre ara RuTgt A & UIai Bl I vl 5, R
ISP ged W Afde TR B Sifbd P ear Bl

SubQuestion No : 92
Q.92 i fiw fawedi A & W &1 faw e gig-
Ans 1. faorit
2. St
3. IR
4. faor

Question ID : 264330173221
Option 11D : 264330679369
Option 2 ID : 264330679370
Option 3 ID : 264330679367
Option 4 ID : 264330679368
Status : Answered
Chosen Option : 4

Comprehension:

AT T B YR IHB YR W Y T U & IR G-

TR U 018 8| 39 HeM H I IS o faotg @ &)1 8, St SIawR &) UgaHdi g1 98
AR TR o I8 F ST Fedl 8, Ia- 6f I8 U MU & THy Ui 8¢ W1l | 98 dR g3y
Y 1 AT BT § iR 3R SU® 919 W I F Fal &1 auf Far |

R 39 HeH & HHt-p T RO +ff o1 8, S 3R W $HeH ST SfFd §; Afe Fepe #
I BT 81 SId | A UR g fawr &1 i 1 e =gl ad 1 9 3ot J1 b1 A1 fhrer &,
fibq 16T 0o 9R U U & 981 Q Pad G A geril| I P18 faRal &) SuR-aF ¥ fem ura
1 ¢; fobg Tra: ITH1 8R fawa § ff 31feb TRarera Bt 81 3R SrgHasfier It g i
i STeraT 8, A 3 TR W1 9 AT, g 7 Hrs T RuTet AP P HIGT Bl I HRal 7, AR
ITP ged W A4 TR B 3ifpd PR et Bl

SubQuestion No : 93
Q.93 fgferfea # | fra fawea o1 94 &- g 7 Wer
Ans 1. HAT T HAT
& 2.9 B
3. FAT AT
4. B8 ¢

Question ID : 264330173222
Option 1 1D : 264330679374
Option 2 ID : 264330679371
Option 3 ID : 264330679373
Option 4 ID : 264330679372
Status : Answered
Chosen Option : 1




Q.94

Ans

Q.95

Ans

Comprehension:

e TR 1 Ugah IUP YR W Y T U & IR aiford-

TR U 018 §1 59 A § I J1dfa &Y fasr o gidT 8, S 3awR &1 Ugadl g1 98
AR TR S I8 F 3T Fedl §, I & I8 W MU & w9y YIS 8¢ a1 31 98 dR I3y
1y 1 AT giaT § 3R 3BT 3% 919 W I & Fal &) auf Far |

R 39 HeM & Hiii-eH 08 Rurd) 1 S €, S 3/avR W HeH 9g1 WiFd ©; e Tebe H
Ui Fe T8 a3 urdR gy faor &1 i e Fgr 3d ¥ 9 o I 1 A frer &,
fahg STef U IR U 7T & 98T I Hed Ui 7 gertil | 30 HIS favan & TOR-8 # fsta
FAT &; fohg Ura: 3! BR faora § oft 31fies TiRaTed® gt 1 3R Sryasita SHafd 78t
fa STeraT B, 1 S TR A1 A aTdt, Hg 1 Tre ara RuTgt A & UIai Bl I vl 5, R
ISP ged W Afde TR B Sifbd P ear Bl

SubQuestion No : 94

IR TR & fore Suge 2fide g |
1. 9OR
2. faora 3iR IR
3. faom ok Hifa
o 4. AT IR faorg
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

264330173219
264330679359
264330679360
264330679362
264330679361
Not Answered

Chosen Option : --

Comprehension:

AT T B YR IHB YR W Y T U & IR G-

TR U 018 8| 39 HeM H I IS o faotg @ &)1 8, St SIawR &) UgaHdi g1 98
AR TR o I8 F ST Fedl 8, Ia- 6f I8 U MU & THy Ui 8¢ W1l | 98 dR g3y
Y 1 AT BT § iR 3R SU® 919 W I F Fal &1 auf Far |

R 39 HeH & HHt-p T RO +ff o1 8, S 3R W $HeH ST SfFd §; Afe Fepe #
I BT 81 SId | A UR g fawr &1 i 1 e =gl ad 1 9 3ot J1 b1 A1 fhrer &,
fibq 16T 0o 9R U U & 981 Q Pad G A geril| I P18 faRal &) SuR-aF ¥ fem ura
1 ¢; fobg Tra: ITH1 8R fawa § ff 31feb TRarera Bt 81 3R SrgHasfier It g i
i STeraT 8, A 3 TR W1 9 AT, g 7 Hrs T RuTet AP P HIGT Bl I HRal 7, AR
ITP ged W A4 TR B 3ifpd PR et Bl

SubQuestion No : 95

W= fou faweul #f @ H19-91 fawew o1 o1 yafgarh 48 82

1. 9%
2.9
3. iR
o 4.5

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

264330173220
264330679363
264330679364
264330679365
264330679366
Answered

4




Comprehension:
TR & YR WYY BT IW S |

Y=Y SIRUTT T *yUBTa! 1T (1970) T AT IUAN 8| g 3R THR P fofeft o7 37 78 T
R forror et & foret oy Su=amr & Y g § 1 SIHa Y UTHIfrend, SIIur ) el & ufa
T TaEHT, TRl B ITh Y& TRY & WY TR BR S DI &, HY= P HFET ok IR
IUT & T YgsidT BT 3iEIe, T8 YR I e &l Uoh WG SHT ¥ TR § | 59 yuy
Jus ¥ fgdia Aergg o St 3R gl & A1l I sl YRdTT Wis 1 fomur i mar g1
STINHR A B R Gohid & [eqd I, o 39 g BT IRHCIG a8 8, AD! BT 4Rl I TdR
g & 3ifaw uRkomm d@ &1 aga Ioig fomr 5o a1 8, Swie-d 9% | fob 39 gg-aua o
AT YdeT &1 Ug = I 3fd T faeme g1 ffewr ok urda 3 et & 9 & geg o,
TRI Y Yl 3R b S G BT b ot H Hl SU—ITHDHR = SHelleeh HIH BT IaTeR0l U
e 71 ST & IR S H IANTUf! & FHIS BT om0 71 SR T Hff STRINSR I gt
YOI SR YerdT I ITTufaa & SToRf} glat, Io1-ew, fawsH iR YTER & e

AT

SubQuestion No : 96

Q.96 zHdle &1 3 ghm-

Ans

1. el
2. 3t
3. IRHT A arel
4. yeresif

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330174131
264330682967
264330682968
264330682969
264330682970
Answered

4




Comprehension:
TR & YR WYY BT IW S |

Y=Y SIRUTT T *yUBTa! 1T (1970) T AT IUAN 8| g 3R THR P fofeft o7 37 78 T
R forror et & foret oy Su=amr & Y g § 1 SIHa Y UTHIfrend, SIIur ) el & ufa
T TaEHT, TRl B ITh Y& TRY & WY TR BR S DI &, HY= P HFET ok IR
IUT & T YgsidT BT 3iEIe, T8 YR I e &l Uoh WG SHT ¥ TR § | 59 yuy
Jus ¥ fgdia Aergg o St 3R gl & A1l I sl YRdTT Wis 1 fomur i mar g1
STINHR A B R Gohid & [eqd I, o 39 g BT IRHCIG a8 8, AD! BT 4Rl I TdR
g & 3ifaw uRkomm d@ &1 aga Ioig fomr 5o a1 8, Swie-d 9% | fob 39 gg-aua o
AT YdeT &1 Ug = I 3fd T faeme g1 ffewr ok urda 3 et & 9 & geg o,
TRI Y Yl 3R b S G BT b ot H Hl SU—ITHDHR = SHelleeh HIH BT IaTeR0l U
e 71 ST & IR S H IANTUf! & FHIS BT om0 71 SR T Hff STRINSR I gt
umﬁémnaﬁ?ﬁ&ﬂmﬁwﬁmﬁu‘f%&mmi 3a1-ueaw, fabsH 3R YYRIR &1 fomor
IRAT B

SubQuestion No : 97

Q.97 yusig {7 Iu=AT BT Hy vy 2-

Ans

¢ 1. 3% SR TRR
2. g IR wifa
3. IR 3R THER
4. IRAR 3R T

Question ID :

Option 11D :

Option 2 ID :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

264330174132
264330682973
264330682971
264330682974
264330682972
Answered

1




Q.98 P& FT AT IS &

Ans

Comprehension:
TR & YR WYY BT IW S |

Y=Y SIRUTT T *yUBTa! 1T (1970) T AT IUAN 8| g 3R THR P fofeft o7 37 78 T
R forror et & foret oy Su=amr & Y g § 1 SIHa Y UTHIfrend, SIIur ) el & ufa
T TaEHT, TRl B ITh Y& TRY & WY TR BR S DI &, HY= P HFET ok IR
IUT & T YgsidT BT 3iEIe, T8 YR I e &l Uoh WG SHT ¥ TR § | 59 yuy
Jus ¥ fgdia Aergg o St 3R gl & A1l I sl YRdTT Wis 1 fomur i mar g1
STINHR A B R Gohid & [eqd I, o 39 g BT IRHCIG a8 8, AD! BT 4Rl I TdR
g & 3ifaw uRkomm d@ &1 aga Ioig fomr 5o a1 8, Swie-d 9% | fob 39 gg-aua o
AT YdeT &1 Ug = I 3fd T faeme g1 ffewr ok urda 3 et & 9 & geg o,
TRI Y Yl 3R b S G BT b ot H Hl SU—ITHDHR = SHelleeh HIH BT IaTeR0l U
e 71 ST & IR S H IANTUf! & FHIS BT om0 71 SR T Hff STRINSR I gt
YOI SR YerdT I ITTufaa & SToRf} glat, Io1-ew, fawsH iR YTER & e

FRATRI
SubQuestion No : 98

o 1./
2. fawe
3. 98

4.TF

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330174130
264330682963
264330682964
264330682966
264330682965
Answered

3




Comprehension:
TR & YR WYY BT IW S |

Y=Y SIRUTT T *yUBTa! 1T (1970) T AT IUAN 8| g 3R THR P fofeft o7 37 78 T
R forror et & foret oy Su=amr & Y g § 1 SIHa Y UTHIfrend, SIIur ) el & ufa
T TaEHT, TRl B ITh Y& TRY & WY TR BR S DI &, HY= P HFET ok IR
IUT & T YgsidT BT 3iEIe, T8 YR I e &l Uoh WG SHT ¥ TR § | 59 yuy
Jus ¥ fgdia Aergg o St 3R gl & A1l I sl YRdTT Wis 1 fomur i mar g1
STINHR A B R Gohid & [eqd I, o 39 g BT IRHCIG a8 8, AD! BT 4Rl I TdR
g & 3ifaw uRkomm d@ &1 aga Ioig fomr 5o a1 8, Swie-d 9% | fob 39 gg-aua o
AT YdeT &1 Ug = I 3fd T faeme g1 ffewr ok urda 3 et & 9 & geg o,
TRI Y Yl 3R b S G BT b ot H Hl SU—ITHDHR = SHelleeh HIH BT IaTeR0l U
e 71 ST & IR S H IANTUf! & FHIS BT om0 71 SR T Hff STRINSR I gt
umﬁémnaﬁ?ﬁ&ﬂmﬁwﬁmﬁu‘f%&m?ﬁ‘cﬁaﬁi 3a1-ueaw, fabsH 3R YYRIR &1 fomor
IRAT B

SubQuestion No : 99

Q.99 R SRYTHT F U YUBTE a1 F T & RTey #-

Ans

1. 3D ATTH FHid AHH Uhb HBR 3

2. JUIN A wuet # fauiferd 8, o g, SavTafa garet o1 &1 s 31
3. faha gue & Ieimufedt & St efada oIk YEMER o1fg &1 v 7
4. 9T GUE H UElRid g 9o & Ardi TaeAT &1 uel ved g

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

264330174134
264330682979
264330682980
264330682982
264330682981
Answered

2




Comprehension:
TR & YR WYY BT IW S |

Y=Y SIRUTT T *yUBTa! 1T (1970) T AT IUAN 8| g 3R THR P fofeft o7 37 78 T
R forror et & foret oy Su=amr & Y g § 1 SIHa Y UTHIfrend, SIIur ) el & ufa
T TaEHT, TRl B ITh Y& TRY & WY TR BR S DI &, HY= P HFET ok IR
IUT & T YgsidT BT 3iEIe, T8 YR I e &l Uoh WG SHT ¥ TR § | 59 yuy
Jus ¥ fgdia Aergg o St 3R gl & A1l I sl YRdTT Wis 1 fomur i mar g1
STINHR A B R Gohid & [eqd I, o 39 g BT IRHCIG a8 8, AD! BT 4Rl I TdR
g & 3ifaw uRkomm d@ &1 aga Ioig fomr 5o a1 8, Swie-d 9% | fob 39 gg-aua o
AT YdeT &1 Ug = I 3fd T faeme g1 ffewr ok urda 3 et & 9 & geg o,
TRI Y Yl 3R b S G BT b ot H Hl SU—ITHDHR = SHelleeh HIH BT IaTeR0l U
e 71 ST & IR S H IANTUf! & FHIS BT om0 71 SR T Hff STRINSR I gt
umﬁémnaﬁ?ﬁ&ﬂmﬁwﬁmﬁu‘f%&mmi 3a1-ueaw, fabsH 3R YYRIR &1 fomor
IRAT B

SubQuestion No : 100

Q.100 yuBTet &7 Iu=aTd $Y fardrear T&Y 2-

Ans

1. DRI B TRIBTET
2. goIdl BT e
3. ITATaR & Ufd Tt Tae
4. TG BT b Y&H SR P AT URGfaaH=or

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

264330174133
264330682975
264330682978
264330682976
264330682977
Answered

1

Section : General English

Q.1

Ans

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. We do not know what to do with our knowledge.

B. Machines should be fed promptly and waited upon attentively, otherwise they refuse
to work or cause destruction.

C. For example, we are unable to manage our machines.

D. Science has given us superhuman powers, which we do not use properly.

1. ABDC
2. ABCD
3. ADBC
«” 4. ADCB

Question ID :

Option 11D :

Option 2 ID :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

26433098168
264330385328
264330385327
264330385326
264330385325
Answered

4




Q.2 Parts of the following sentence have been given as options. Select the option that

contains an error.

She didn't went to the party because she was feeling sick.

Ans 1. because she
2. was feeling sick
3. to the party
o 4. She didn't went

Question ID : 264330168226
Option 11D : 264330659781
Option 2 ID : 264330659782
Option 3 ID : 264330659780
Option 4 ID : 264330659779
Status : Answered
Chosen Option : 4
Q.3 Select the INCORRECTLY spelt word.
Ans ¢ 1. Resistence
2. Assassination
3. Millennium
4. Caribbean
Question ID : 264330142383
Option 11D : 264330557814
Option 2 ID : 264330557811
Option 3 ID : 264330557813
Option 4 ID : 264330557812
Status : Answered
Chosen Option : 1
Q.4 Select the option that expresses the given sentence in direct speech.
The teacher told the students to complete their homework before the deadline.
Ans & 1. “Complete your homework before the deadline, ” the teacher says to the students.
2. “You should complete your homework before the deadline, ” said the teacher.
3. “You should complete your homework before the deadline, ” says the teacher to the
students.
4. “Complete your homework before the deadline, ” the students were instructed by the
teacher.
Question ID : 264330165105
Option 11D : 264330647549
Option 2 ID : 264330647548
Option 3 ID : 264330647550
Option 4 ID : 264330647547
Status : Answered
Chosen Option : 4




Q.5 Select the sentence which gives the most appropriate meaning of the given idiom.

Hit the nail on the head.

Ans 1. Amy and John went to the beach for a relaxing vacation.
«” 2. The teacher explained the difficult concept clearly.
3. Mike bought a new car from the dealership.

4. Tom missed the bus and had to walk to work.

Question ID : 264330167831
Option 11D : 264330658277
Option 2 ID : 264330658276
Option 3 ID : 264330658278
Option 4 ID : 264330658275
Status : Answered
Chosen Option : 2
Q.6 Select the option that expresses the given sentence in indirect speech.
The chief cook replied, “I will not leave you.”
Ans 1. The chief cook said that he will not leave him.
2. The chief cook says that he will not leave him.
«” 3. The chief cook said that he would not leave him.
4. The chief cook replied that he would not leave you.
Question ID : 264330164700
Option 11D : 264330645959
Option 2 ID : 264330645961
Option 3 ID : 264330645962
Option 4 ID : 264330645960
Status : Answered
Chosen Option : 3
Q.7 Parts of the following sentence have been underlined and given as options. Select the
option that contains an error.
Immediately after the prince got down from his horse to drink some water from the
pond nearby, an eagle flew over the horse and an unicorn ran in front of him.
Ans 1. an eagle
2. the prince
3. the pond
«” 4. an unicorn
Question ID : 264330168031
Option 11D : 264330659013
Option 2 ID : 264330659011
Option 3 ID : 264330659012
Option 4 ID : 264330659014
Status : Answered
Chosen Option : 4




Q.8 The following sentence has been split into some parts. Identify the part that contains a
grammatical error. If you don’t find any error, mark ‘No error’ as your answer.
Charith speaks so polite / with his neighbours / but they are always very rude to him.

Ans 1. but they are always very rude to him
«” 2. Charith speaks so polite
3. No error

4. with his neighbours

Option 4 ID

Question ID :
Option 11D :
Option 21D :
Option 31D :

264330135918
264330532525
264330532523
264330532526

1 264330532524
Status :
Chosen Option :

Not Answered

Q.9 Select the most appropriate ANTONYM of the highlighted word in the given sentence.

Children adore science fiction movies.

Ans 1. Discuss
2. Benefit

3. Experience

«” 4. Despise
Question ID : 264330108895
Option 1 ID : 264330427857
Option 2 ID : 264330427859
Option 3 ID : 264330427860
Option 4 ID : 264330427858
Status : Answered
Chosen Option : 4
Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
My aunt, Sudha, has stitch / dresses for us / every year since / we were children.
Ans ¢ 1. My aunt, Sudha, has stitch

2. every year since

3. we were children

4. dresses for us
Question ID : 264330137221
Option 1 ID : 264330537515
Option 2 ID : 264330537517
Option 3 ID : 264330537518
Option 4 ID : 264330537516

Status : Answered
Chosen Option : 1




Q.11 What does the idiom ‘Behind the eight ball’ mean?
Ans 1. In a favourable position

2. Playing pool or billiards
3. Having eight balls as a possession

«” 4. In a difficult or disadvantaged position

Question ID : 264330172271
Option 11D : 264330675648
Option 2 ID : 264330675647
Option 3 ID : 264330675650
Option 4 ID : 264330675649
Status : Answered
Chosen Option : 4
Q.12 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct logical order to form a meaningful and coherent paragraph.
A.Therefore, we should make hygiene a habit since it is essential for excellent physical
and mental health.
B.The art of keeping our body, mind, residence, workspace, and surroundings clean is
referred to as cleanliness.
C.The cleanliness of our surroundings and environment is critical for our social and
mental well-being.
D.Cleaning clothes, cleaning streets, cleaning surroundings, cleaning homes and
personal cleanliness are all examples of cleanliness.
Ans 1. BACD
2. ABCD
3. CDBA
«” 4. BDCA
Question ID : 264330117482
Option 11D : 264330461956
Option 2 ID : 264330461954
Option 3 ID : 264330461955
Option 4 ID : 264330461953
Status : Answered
Chosen Option : 1
Q.13 Select the most appropriate meaning of the given idiom.
A man of straw
Ans 1. A man of character
2. A man with no means
«” 3. A weak or cowardly man
4. A generous man
Question ID : 264330141629
Option 11D : 264330554847
Option 2 ID : 264330554849
Option 3 ID : 264330554848
Option 4 ID : 264330554850
Status : Answered
Chosen Option : 4




Q.14 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A.You all think, don’t you, that you are nearly grown up.

B.The same thing will happen to you too.

C.I thought so when | was your age; and now, after eighty-one years of that
expectation, | have not grown up yet.

D.You will escape from school only to discover that the world is a bigger school, and
that you are back again in the first grade.

Ans 7 1. ACDB
2. BACD
3. ABDC
4. ABCD
Question ID : 264330117434
Option 11D : 264330461778
Option 2 ID : 264330461777
Option 3 ID : 264330461780
Option 4 ID : 264330461779
Status : Not Answered
Chosen Option : --
Q.15 The following sentence has been split into four segments. Identify the segment that
contains a spelling error.
Half the encantment of the place / was due to the fact / that it did not have / the benefit
of municipal lighting.
Ans ¢ 1. Half the encantment of the place
2. was due to the fact
3. the benefit of municipal lighting
4. that it did not have
Question ID : 264330168006
Option 1 1D : 264330658911
Option 2 ID : 264330658912
Option 3 ID : 264330658913
Option 4 ID : 264330658914
Status : Answered
Chosen Option : 1
Q.16 Parts of the following sentence have been given as options. Select the option that
contains an error.
Some people say | take down my father but you are the only one who thinks | look
similar to my mother.
Ans 1. Some people say | take down
2. only one who thinks | look
3. similar to my mother.
4. my father but you are the
Question ID : 264330168325
Option 1 1D : 264330660163
Option 2 ID : 264330660165
Option 3 ID : 264330660166
Option 4 ID : 264330660164
Status : Answered
Chosen Option : 1




Q.17 Select the most appropriate synonym of the given word.

Narrow
Ans 1. Straight
o 2. Slender
3. Curly
4. Thick
Question ID : 264330168294
Option 1 ID : 264330660040
Option 2 ID : 264330660042
Option 3 ID : 264330660041
Option 4 ID : 264330660039
Status : Answered
Chosen Option : 4
Q.18 Select the most appropriate option to fill in the blank.
Western culture does not identify any one group or idea, but rather tendencies within
cultural thought and practises that emphasise the struggle of the individual over the
__ ofthe collective.
Ans 7 1. plight
2. joy
3. renege
4. delight
Question ID : 26433098932
Option 1 ID : 264330388384
Option 2 ID : 264330388382
Option 3 ID : 264330388381
Option 4 ID : 264330388383
Status : Answered
Chosen Option : 3
Q.19 Select the grammatically correct sentence.
Ans 1. A old man who was found dead on a track wore a red shirt with no sleeves.
2. The old man who was found dead on an track wore the red shirt with no sleeves.
«” 3. The old man who was found dead on the track wore a red shirt with no sleeves .
4. An old man who was found dead on the track wore an red shirt with no sleeves.
Question ID : 264330136343
Option 1 ID : 264330534143
Option 2 ID : 264330534145
Option 3 ID : 264330534146
Option 4 ID : 264330534144
Status : Answered
Chosen Option : 3




Q.20 Select the most appropriate synonym of the given word.

Whisper
Ans 7 1. Murmur
2. Shout
3. Plead
4. Pay
Question ID : 264330168273
Option 1 1D : 264330659959
Option 2 ID : 264330659960
Option 3 ID : 264330659961
Option 4 ID : 264330659962
Status : Answered
Chosen Option : 1
Q.21 Parts of the following sentence have been given as options. Select the option that
contains an error.
None of the suggestions that Suresh puts out are legitimate.
Ans 1. the suggestions that
«” 2. Suresh puts out
3. None of
4. are legitimate
Question ID : 264330163426
Option 1 ID : 264330640980
Option 2 ID : 264330640981
Option 3 ID : 264330640979
Option 4 ID : 264330640982
Status : Answered
Chosen Option : 2
Q.22 Parts of the following sentence have been given as options. Select the option that
contains an error.
Please pass me an piece of chalk that | can use for the blackboard.
Ans 1. that | can use
«” 2. an piece of chalk
3. for the blackboard
4. Please pass me
Question ID : 264330168321
Option 1 ID : 264330660149
Option 2 ID : 264330660148
Option 3 ID : 264330660150
Option 4 ID : 264330660147
Status : Answered
Chosen Option : 2




Q.23 Select the option that expresses the given sentence in or indirect speech.

Rashmi told her mentor, “I can’t wait to go on vacation.”
Ans 1. Rashmi told her mentor that she couldn’t wait and went on vacation.

«” 2. Rashmi told her mentor that she couldn’t wait to go on vacation.
3. Rashmi told her mentor that she won’t be waiting to go on vacation.

4. Rashmi told her mentor whether she couldn’t wait to go on vacation.

Question ID : 264330164394
Option 11D : 264330644787
Option 2 ID : 264330644788
Option 3 ID : 264330644790
Option 4 ID : 264330644789
Status : Answered
Chosen Option : 2
Q.24 Select the option that expresses the given sentence in direct speech.
The man told the crowd that he hadn’t had his food for the last three days.
Ans 1. The man told the crowd, “I don’t have my food for the last three days.”
2. The man told the crowd, “I couldn’t have my food for the last three days.”
«” 3. The man told the crowd, “I haven’t had my food for the last three days.”
4. The man told the crowd, “I won’t have my food for the last three days.”
Question ID : 264330136456
Option 11D : 264330534583
Option 2 ID : 264330534584
Option 3 ID : 264330534586
Option 4 ID : 264330534585
Status : Answered
Chosen Option : 3
Q.25 Select the most appropriate meaning of the given idiom.
Weal and woe
Ans 1. High and low level
2. Well-wishers and critics
3. Safe and dangerous place
«” 4. Prosperity and misfortune
Question ID : 264330169780
Option 11D : 264330665814
Option 2 ID : 264330665811
Option 3 ID : 264330665813
Option 4 ID : 264330665812
Status : Not Answered

Chosen Option :




Q.26 Select the most appropriate synonym of the given word.

Insert
Ans 1. Fix
«” 2. Enter
3. Make
4. Assemble
Question ID :
Option 1 1D
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

264330168293

: 264330660036

264330660037
264330660035
264330660038
Answered

2

Q.27 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
We wanted to / get by to him / but he was / against saving.

Ans 1. We wanted to
2. against saving
3. but he was

o 4. get by to him

Question ID : 264330140561
Option 1 1D : 264330550595
Option 2 ID : 264330550598
Option 3 ID : 264330550597
Option 4 ID : 264330550596
Status : Answered
Chosen Option : 4
Q.28 The following sentence has been split into four segments. Identify the segment that

contains a spelling error.

By this discrimineting title / | do not intend to suggest / a rebuke / to conductors

generally.

Ans 1. to conductors generally
2. 1 do not intend to suggest
«” 3. By this discrimineting title
4. arebuke
Question ID : 264330168008
Option 11D : 264330658920
Option 2 ID : 264330658919
Option 3 ID : 264330658921
Option 4 ID : 264330658922
Status : Answered
Chosen Option : 3




Q.29 Parts of the following sentence have been given as options. Select the option that

contains an error.

| don’t exactly know where the address is but | can ask people out.

Ans 1. 1 don’t exactly
«” 2. can ask people out
3. address is but |

4. know where the

Question ID : 264330168324
Option 11D : 264330660159
Option 2 ID : 264330660162
Option 3 ID : 264330660161
Option 4 ID : 264330660160
Status : Not Answered
Chosen Option : --
Q.30 Select the most appropriate ANTONYM of the underlined word.
The long delay had made me quite apprehensive.
Ans 1. Uneasy
2. Doubtful
«” 3. Confident
4. Shaky
Question ID : 264330117474
Option 11D : 264330461928
Option 2 ID : 264330461926
Option 3 ID : 264330461927
Option 4 ID : 264330461925
Status : Answered
Chosen Option : 3
Q.31 Select the option that expresses the given sentence in active voice.
A mango is eaten by John.
Ans ¢ 1. John eats a mango.
2. John likes to eat a mango
3. John is eating mango.
4. John eat a mango.
Question ID : 264330171577
Option 1 ID : 264330672923
Option 2 ID : 264330672925
Option 3 ID : 264330672924
Option 4 ID : 264330672926
Status : Answered

Chosen Option :

1




Q.32 Select the sentence that has a grammatical error.

Ans 1. She is an American.

2. When going out in the sun, it is advisable to take an umbrella with you.
3. Ranijit couldn’t make such a blunder. He is an honourable man.

«” 4. An university is defined by its pupils.

Question ID : 264330168032
Option 11D : 264330659017
Option 2 ID : 264330659015
Option 3 ID : 264330659018
Option 4 ID : 264330659016
Status : Answered
Chosen Option : 4
Q.33 Select the option that expresses the following sentence in active voice.
The painting was admired by art enthusiasts from around the world.
Ans 1. The painting had been admired by art enthusiasts from around the world.
«” 2. Art enthusiasts from around the world admired the painting
3. The painting will have been admired by art enthusiasts from around the world.
4. Art enthusiasts have been admiring the painting from around the world.
Question ID : 264330169738
Option 11D : 264330665652
Option 2 ID : 264330665653
Option 3 ID : 264330665654
Option 4 1D : 264330665651
Status : Answered
Chosen Option : 2
Q.34 Select the option that expresses the given sentence in passive voice.
They have already discussed the poem.
Ans 1. The poem was discussed by them.
«” 2. The poem has already been discussed by them.
3. They discussed the poem already.
4. The poem will be discussed later.
Question ID : 264330169824
Option 11D : 264330665983
Option 2 ID : 264330665985
Option 3 ID : 264330665984
Option 4 ID : 264330665986
Status : Answered
Chosen Option : 2




Q.35 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. There are hundreds of acupuncture points on the body.

B. Acupuncture, a system of treatment of disease, has been practised in China for
nearly five thousand years .

C. It consists of the rapid insertion of steel needles, about six centimetres long, in
particular spots on the body of the patient.

D. After inserting the needles, the doctor twirls it between his thumb and forefinger.

Ans 1. ACBD

«” 2. BCDA
3. CABD
4. BDCA
Question ID : 26433096967
Option 11D : 264330380606
Option 2 ID : 264330380605
Option 3 ID : 264330380607
Option 4 ID : 264330380608
Status : Answered
Chosen Option : 2
Q.36 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. It consists of a very strong vessel made of aluminium alloy, with a lid that fits tightly
on the top.
B. The lid can be sealed on to the vessel by means of a rubber ring.
C. At the centre of the lid there is a vent, or hole through which steam can escape.
D. A pressure cooker is a vessel in which food is cooked in steam under pressure.
Ans 7 1. DABC
2. DBAC
3. BDAC
4. ABCD
Question ID : 26433096965
Option 11D : 264330380599
Option 2 ID : 264330380600
Option 3 ID : 264330380598
Option 4 ID : 264330380597
Status : Answered
Chosen Option : 1




Q.37 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

(a) Nowadays, the most trending domain in wireless communication is Wi-Fi and
internet users are also increasing every year.

(b) The range of data transmission in Li-Fi is 100 times faster than Wi-Fi.

(c) For obtaining better speed, efficiency and bandwidth, Li-Fi technology has evolved.
(d) The data transmission in this technology can be done using light because the light
intensity changes quicker than the human eye for capturing.

(e) Li-Fi-light fidelity is similar to Wi-Fi technology and it is one of the future wireless
communication technologies.

(f) The main feature of this technology includes fully networked, bidirectional and
high-speed wireless.

Ans 1. cfedba
o 2. efacdb

3. abcdef

4. abcfed

Question ID : 264330123675
Option 11D : 264330484741
Option 2 ID : 264330484740
Option 3 ID : 264330484742
Option 4 ID : 264330484739
Status : Answered
Chosen Option : 3

Q.38 Select the most appropriate option to fill in the blank.
The Principal the back of the student who stood first in the examination.

Ans 7 1. patted

2. broke
3. beat

4. slapped

Question ID : 26433098878
Option 11D : 264330388166
Option 2 1D : 264330388168
Option 3 ID : 264330388167
Option 4 ID : 264330388165
Status : Answered
Chosen Option : 4

Q.39 Select the INCORRECTLY spelt word.
Ans ¢ 1. Fedaration

2. Cancelled
3. Consecutive

4. Independence

Question ID : 26433092317
Option 11D : 264330362567
Option 2 ID : 264330362566
Option 3 ID : 264330362568
Option 4 ID : 264330362565
Status : Answered
Chosen Option : 1




Q.40 Select the option that expresses the given sentence in passive voice.

Sita will buy the books.
Ans 1. Sita have bought the books.

«” 2. The books will be bought by Sita.
3. The books would have been bought by Sita.
4. Sita would bought the books.

Question ID : 264330168346
Option 11D : 264330660248
Option 2 ID : 264330660249
Option 3 ID : 264330660250
Option 4 ID : 264330660247
Status : Answered
Chosen Option : 2
Q.41 Choose the most appropriate meaning of the given idiom.
Behind the times
Ans 7 1. To be old-fashioned
2. To go crazy
3. To become worse
4. To do something without making any progress
Question ID : 264330171618
Option 11D : 264330673088
Option 2 ID : 264330673087
Option 3 ID : 264330673089
Option 4 ID : 264330673090
Status : Answered
Chosen Option : 1
Q.42 Select the option that expresses the given sentence in active voice.
By whom was the entire house decorated?
Ans 1. Who had decorated the entire house?
«” 2. Who decorated the entire house?
3. Who will decorate the entire house?
4. Who can decorate the entire house?
Question ID : 264330141548
Option 1 ID : 264330554528
Option 2 ID : 264330554530
Option 3 ID : 264330554527
Option 4 ID : 264330554529
Status : Answered
Chosen Option : 2




Q.43 Select the option that expresses the following sentence in indirect speech.

She said to him, “I don’t believe you.”
Ans 1. He was not believed by her.
2. “Do you believe him?” She asked.
«” 3. She said that she did not believe him.

4. She said she don’t believe him

Question ID : 264330164205
Option 11D : 264330644069
Option 2 ID : 264330644070
Option 3 ID : 264330644068
Option 4 ID : 264330644067
Status : Answered
Chosen Option : 3
Q.44 Select the INCORRECTLY spelt word.
Ans 1. Incidentally
«” 2. Noticable
3. Vicious
4. Weird
Question ID : 264330142385
Option 1 ID : 264330557819
Option 2 ID : 264330557820
Option 3 ID : 264330557821
Option 4 ID : 264330557822
Status : Answered
Chosen Option : 4
Q.45 The given sentence has some words with incorrect spellings. Select the most
appropriate option that corrects the spellings.
A strict obsarvance of punctuality will increase the efficiency of the department.
Ans ¢ 1. A strict observance of punctuality will increase the efficiency of the department.
2. A strikt observance of punctuality will increase the efficiency of the department.
3. A strict observance of punctuality will increase the eficiency of the department.
4. A strict observance of punhuality will increase the efficiency of the department.
Question ID : 26433092090
Option 11D : 264330361681
Option 2 ID : 264330361684
Option 3 ID : 264330361683
Option 4 1D : 264330361682
Status : Answered

Chosen Option :

1




Q.46 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

the correct order to form a meaningful and coherent paragraph.

A.The competition is fierce. The measures of success are subjective.

B.Making a living as a writer has always been an elusive pursuit.

C.The critic Elizabeth Hardwick said that there were really only two reasons to write:
desperation or revenge.

D.Even many people at the top of the profession can’t wholeheartedly recommend it.

1. DBCA
» 2. BCDA
3. ACDB
4. BADC

Question ID :

Option 11D

Option 21D :

Option 3D :

Option 4 ID :

Status :

Chosen Option :

Q.47 Some sentences are given below. While the first and the last sentences (1 and 2) are in

Ans

the correct order, the sentences in between are jumbled up. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

1.0ne of the peculiarities which distinguish the present age is the multiplication of
books.

A.We are flattered with repeated promises of growing wiser on easier terms.

B.Every day brings new advertisements of literary undertakings.

C.How much happiness or knowledge is advanced by the multitude of authors is not
very easy to decide.

D.He that teaches us anything new that we did not know before is definitely loved as a
benefactor.

2.However, some have the habit to lay two books in front of them and compile the third
book at ease.

1. DBCA
o 2. BACD
3. DCBA
4. BCAD
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

264330122805

: 264330481287

264330481289
264330481288
264330481290
Not Answered

264330131417
264330514782

: 264330514779

264330514780

: 264330514781

Not Answered




Q.48 Sentences of a paragraph are given below. While the first and the last sentences (S1
and S6) are in the correct order, the sentences in between are jumbled up. Arrange the
sentences in the correct order to form a meaningful and coherent paragraph.

S1. Elephants are found in India and in Africa.

A.In fact, the two are considered to be different species.

B.An African elephant is larger, with longer tusks and bigger ears.
C.In both countries they live in herds in jungles.

D.The elephants are shy animals and generally keep away from men.
S6. The elephant is a very intelligent animal.

Ans 7 1. BACD

2. BADC
3. BDCA
4. BDAC
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Q.49 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. In his work Yogasutras, Patanjali outlined the foundational principles and methods
of yoga (yoga aphorisms).

B. He said that the human body contains centres called Chakra and conduits called
Nadi.

C. If these are activated, the body's kundalini energy, which is a secret source of
strength, might be unleashed, giving the body superhuman abilities.

D. He provides eight steps that help one to achieve mental calmness.

Ans 1. ADCB
2. BDAC
o 3. ABCD
4. BCAD
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 264330121823

264330477464

: 264330477465

264330477466
264330477463
Answered

2

26433098157
264330385283
264330385284
264330385281
264330385282
Answered

3




Q.50 Select the most appropriate preposition to fill in the blank.

We had to learn all thetables _ heart.
Ans 1. with
2.in
3. within
o 4. by
Question ID : 264330164314
Option 1 1D : 264330644472
Option 2 ID : 264330644473
Option 3 ID : 264330644474
Option 4 1D : 264330644471
Status : Answered
Chosen Option : 4
Q.51 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. The priest’s son was meditating when he saw the prince, and was very delighted.
B. The prince asked his friend to become the adviser but he refused.
C. When the priest died, the king decided to appoint the priest’s son the next adviser
to his son, the prince. He knew that priest’s son would be an able guide to the young
prince.
D. So, he sent his son to meet his friend in the forest. He knew about their friendship.
Ans 1. ABCD
2. BDCA
«” 3. CDAB
4. DABC
Question ID : 264330167994
Option 1 1D : 264330658867
Option 2 ID : 264330658870
Option 3 ID : 264330658868
Option 4 1D : 264330658869
Status : Answered
Chosen Option : 3




Q.52 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

the correct order to form a meaningful and coherent paragraph.

(a) The same year, Frank Drake launched the first SETI search, Project Ozma, by
pointing a large radio telescope at two nearby sun-like stars to see if he could detect

any radio signals coming from them.

(b) These first, foundational attempts to detect radio or laser signals from another

civilization were all looking for focused, powerful signals that would have been
intentionally sent to the solar system and meant to be found.

(c) Following the invention of the laser in 1960, astronomers showed that visible light

could also be detected from distant planets.

(d) The modern scientific search for extraterrestrial intelligence began in 1959 when
astronomers, Giuseppe Cocconi and Philip Morrison, showed that radio transmissions

from Earth could be detected by radio telescopes at interstellar distances.
o 1. dacb

2. abcd
3. dbac

4. acdb

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

Q.53 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

the correct order to form a meaningful and coherent paragraph.

A.We have a mango tree in our village.

B.Do not eat it.

C.Just take a bite.

D.Come visit us, and | will give you a mango from there.

1. ABCD
2. ADCB
« 3. ADBC
4. ABDC

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status

264330123678
264330484753
264330484751
264330484754
264330484752

: Answered
Chosen Option :

1

264330117433
264330461774
264330461773
264330461775
264330461776

: Answered
Chosen Option :

3




Q.54 Select the most appropriate option to fill in the blank.

Attempts to transition from nearly total criminalisation to partial decriminalisation of
abortion have been and challenging.

Ans 1. trivial
2. facile
3. mild
«” 4. arduous
Question ID : 26433098928
Option 11D : 264330388368
Option 2 ID : 264330388367
Option 3 ID : 264330388365
Option 4 ID : 264330388366
Status : Answered
Chosen Option : 4
Q.55 Parts of the following sentence have been given as options. Select the option that
contains an error.
Raju ate the mangoes greedy.
Ans 1. Raju
2. the mangoes
o 3. greedy.
4. ate
Question ID : 264330169582
Option 1 1D : 264330665047
Option 2 ID : 264330665049
Option 3 ID : 264330665050
Option 4 ID : 264330665048
Status : Answered
Chosen Option : 3
Q.56 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. Fibres are thin long pieces of material which are spun into threads for making
cloths, ropes, etc.
B. Fibres of natural origin are further classified into two groups: those of vegetable
origin and those of animal origin.
C. Fibres can broadly be classified into two categories: fibres of natural origin and
fibres of artificial origin.
D. Artificial fibres can again be subdivided into two groups: modified forms of natural
fibres and synthetic fibres which are directly synthesised.
Ans 1. BDAC
2. ABCD
3. CDAB
«” 4. ACDB
Question ID : 26433096968
Option 1 1D : 264330380611
Option 2 ID : 264330380610
Option 3 ID : 264330380609
Option 4 ID : 264330380612
Status : Answered
Chosen Option : 4




Q.57 Select the most appropriate synonym of the given word.
Sentry

Ans 1. Lawyer
2. Parent
o 3. Guard

4. Clerk

Question ID : 264330168274
Option 1 1D : 264330659965
Option 2 ID : 264330659963
Option 3 ID : 264330659966
Option 4 ID : 264330659964
Status : Answered
Chosen Option : 3
Q.58 Select the most appropriate synonym of the given word.
Imprisonment
Ans 1. Predicament
2. Development
«” 3. Confinement
4. Redemption
Question ID : 264330169205
Option 11D : 264330663612
Option 2 ID : 264330663614
Option 3 ID : 264330663613
Option 4 ID : 264330663611
Status : Answered
Chosen Option : 1
Q.59 Select the option that expresses the given sentence in passive voice.
The teacher praised the students for their hard work.
Ans & 1. The students were praised by the teacher for their hard work.
2. The students have been praised by the teacher for their hard work.
3. The teacher praises the students for their hard work.
4. The teacher was praised by the students for their hard work.
Question ID : 264330164662
Option 11D : 264330645819
Option 2 ID : 264330645820
Option 3 ID : 264330645822
Option 4 ID : 264330645821
Status : Answered
Chosen Option : 1




Q.60 Select the option that expresses the given sentence in indirect speech.

The cop said to the thief, “How have you entered the secured area?”
Ans 1. The cop wanted to know how the thief enters the secured area.
2. The cop asked the thief how he has entered the secured area.
3. The cop asked the thief how has he entered the secured area.

o 4. The cop asked the thief how he had entered the secured area.

Question ID : 264330164703
Option 1 1D : 264330645971
Option 2 ID : 264330645973
Option 3 ID : 264330645972
Option 4 ID : 264330645974
Status : Answered
Chosen Option : 4
Q.61 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Mr. Amit Kumar Singh / had worked with / us since / May 2018.
Ans ¢ 1. had worked with
2. Mr. Amit Kumar Singh
3. us since
4. May 2018
Question ID : 264330137222
Option 11D : 264330537520
Option 2 ID : 264330537519
Option 3 ID : 264330537521
Option 4 ID : 264330537522
Status : Answered
Chosen Option : 1
Q.62 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A.One day, | announced that we were being given music lessons.
B.To her, music had lewd associations.
C.It was the monopoly of harlots and beggars and not meant for gentlefolk.
D.My grandmother was very disturbed.
Ans 1. ACBD
2. ABDC
3. ABCD
« 4. ADBC
Question ID : 264330117429
Option 1 1D : 264330461760
Option 2 ID : 264330461759
Option 3 ID : 264330461757
Option 4 ID : 264330461758
Status : Answered
Chosen Option : 3




Q.63 The following sentence has been divided into parts. One of them may contain an error.

Select the part that contains the error from the given options.
The car drove / quite fastly / along the highway / towards the destination.

Ans 1. along the highway
« 2. quite fastly
3. The car drove

4. towards the destination.

Question ID : 264330164238
Option 1 1D : 264330644185
Option 2 ID : 264330644184
Option 3 ID : 264330644183
Option 4 ID : 264330644186
Status : Answered
Chosen Option : 2
Q.64 Select the most appropriate synonym of the given word.
Reprimand
Ans 7 1. Condemnation
2. Generic
3. Endorsement
4. Honour
Question ID : 264330169204
Option 11D : 264330663609
Option 2 1D : 264330663607
Option 3 ID : 264330663610
Option 4 ID : 264330663608
Status : Answered
Chosen Option : 1
Q.65 Select the option that expresses the given sentence in reported speech.
He said, “I have been working on the project for months”.
Ans 1. He had said that he had been working on the project for months.
2. He said that he has been working on the project for months.
3. He says that he has been working on the project for months.
o 4. He said that he had been working on the project for months.
Question ID : 264330137491
Option 11D : 264330538586
Option 2 ID : 264330538584
Option 3 ID : 264330538585
Option 4 ID : 264330538583
Status : Answered
Chosen Option : 4




Q.66 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

the correct order to form a meaningful and coherent paragraph.

(a) In reality, this continuous accumulation of cheap garments is only possible
because of a constant reduction of production costs.
(b) It felt great until we found out what was hiding behind this trend.

(c) The drop in garment prices over the last 20 years has allowed us to buy more and

more clothes.

(d) This, in turn, has serious consequences on our health, our planet and on garment

workers’ lives.

(e) We now have five times more clothes than our grandparents had.

«” 1. cebad
2. acdbe
3. abcde

4. echda

Question ID : 264330123676
Option 1 ID : 264330484744
Option 2 ID : 264330484745
Option 3 ID : 264330484743
Option 4 ID : 264330484746
Status : Answered
Chosen Option : 1
Q.67 Select the option that expresses the given sentence in passive voice.
They built a new hospital in the city centre.
Ans ¢ 1. A new hospital was built in the city centre by them.
2. They were building a new hospital in the city centre.
3. They have built a new hospital in the city centre.
4. A new hospital is being built in the city centre by them.
Question ID : 264330164663
Option 11D : 264330645824
Option 2 ID : 264330645823
Option 3 ID : 264330645825
Option 4 ID : 264330645826
Status : Answered
Chosen Option : 1
Q.68 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
Despite the company'’s initial setbacks, they decided to increase their commitment and
invest more resources in the project to ensure its success.
Ans 1. double trouble
2. double agent
3. double back
«” 4. double down
Question ID : 264330139268
Option 1 1D : 264330545590
Option 2 ID : 264330545589
Option 3 ID : 264330545588
Option 4 ID : 264330545587
Status : Answered
Chosen Option : 2




Q.69 Choose the most appropriate meaning of the underlined phrase.
Some people have a habit of wearing their heart on their sleeve.

Ans 1. Wasting their time on unnecessary details
«” 2. Exposing their innermost feeling to others
3. Saying something that is not to be taken seriously

4. Avoiding being friendly with others

Question ID : 264330137451
Option 1 1D : 264330538427
Option 2 ID : 264330538430
Option 3 ID : 264330538428
Option 4 ID : 264330538429
Status : Answered
Chosen Option : 2
Q.70 Select the most appropriate ANTONYM for the highlighted word.
The cricketer is in sublime form.
Ans 1. interior
2. superior
3. exterior
o 4. inferior
Question ID : 264330120730
Option 1 1D : 264330473138
Option 2 ID : 264330473136
Option 3 ID : 264330473137
Option 4 ID : 264330473135
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Budgeting helps us save. Saving can be done by (1) income and expenses. If
your expenses (2) your income, it means you are unable to prioritise your
expenses. First, it is important to (3) your expenses according to the priority. This
will definitely help you to (4) where most of your expenses are done. The money
left after limiting the expenses is your saving and after that you can think of your (5)
SubQuestion No : 71
Q.71 Select the most appropriate option to fill in blank number 1.
Ans 1. mixing
2. subtracting
3. joining
o 4. segregating
Question ID : 264330117176
Option 1 1D : 264330460767
Option 2 ID : 264330460768
Option 3 ID : 264330460765
Option 4 1D : 264330460766
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Budgeting helps us save. Saving can be done by (1) income and expenses. If
your expenses (2) your income, it means you are unable to prioritise your
expenses. First, it is important to (3) your expenses according to the priority. This
will definitely help you to (4) where most of your expenses are done. The money
left after limiting the expenses is your saving and after that you can think of your (5)

SubQuestion No : 72
Q.72 Select the most appropriate option to fill in blank number 2.
Ans 1. recede

2. impede
3. follow

o 4. exceed

Question ID : 264330117177
Option 11D : 264330460770
Option 2 ID : 264330460772
Option 3 ID : 264330460771
Option 4 ID : 264330460769
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Budgeting helps us save. Saving can be done by (1) income and expenses. If
your expenses (2) your income, it means you are unable to prioritise your
expenses. First, it is important to (3) your expenses according to the priority. This
will definitely help you to (4) where most of your expenses are done. The money
left after limiting the expenses is your saving and after that you can think of your (5)

SubQuestion No : 73
Q.73 Select the most appropriate option to fill in blank number 3.
Ans 1. confirm

2. shape
3. disarrange

o 4. categorise

Question ID : 264330117178
Option 11D : 264330460775
Option 2 ID : 264330460773
Option 3 ID : 264330460774
Option 4 ID : 264330460776
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Budgeting helps us save. Saving can be done by (1) income and expenses. If
your expenses (2) your income, it means you are unable to prioritise your
expenses. First, it is important to (3) your expenses according to the priority. This
will definitely help you to (4) where most of your expenses are done. The money
left after limiting the expenses is your saving and after that you can think of your (5)

SubQuestion No : 74
Q.74 Select the most appropriate option to fill in blank number 4.
Ans 1. collaborate

o 2. figure out
3. take in

4. underestimate

Question ID : 264330117179
Option 11D : 264330460780
Option 2 ID : 264330460779
Option 3 ID : 264330460777
Option 4 ID : 264330460778
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Budgeting helps us save. Saving can be done by (1) income and expenses. If
your expenses (2) your income, it means you are unable to prioritise your
expenses. First, it is important to (3) your expenses according to the priority. This
will definitely help you to (4) where most of your expenses are done. The money
left after limiting the expenses is your saving and after that you can think of your (5)

SubQuestion No : 75
Q.75 Select the most appropriate option to fill in blank number 5.
Ans ¢ 1.investment

2. deal
3. arrangement

4. contract

Question ID : 264330117180
Option 11D : 264330460781
Option 2 ID : 264330460783
Option 3 ID : 264330460782
Option 4 ID : 264330460784
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Courtesy, etiquette and demeanour are words which were of (1)____ importance till a few
years ago. Formal behaviour has always been an important part of not (2)___ workplaces,
but also at schools and government organisations. However, of late, informality is being
considered cool by many from this generation. This, however, leads to situations where the
language and mannerism (3)____ could be considered rude. Although language has
transformed over time, there is no (4)____ for lack of etiquette. There are definitely times and

places where not displaying politeness and manners could lead to (5) consequences.
SubQuestion No : 76
Q.76 Select the most appropriate option to fill in blank number 1.
Ans ¢ 1. paramount
2. small
3. mount
4. triumph
Question ID : 264330117358
Option 1 ID : 264330461483
Option 2 ID : 264330461484
Option 3 ID : 264330461481
Option 4 ID : 264330461482
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Courtesy, etiquette and demeanour are words which were of (1) importance till a few
years ago. Formal behaviour has always been an important part of not (2) workplaces,
but also at schools and government organisations. However, of late, informality is being
considered cool by many from this generation. This, however, leads to situations where the
language and mannerism (3) could be considered rude. Although language has
transformed over time, there is no (4) for lack of etiquette. There are definitely times and
places where not displaying politeness and manners could lead to (5) consequences.
SubQuestion No : 77
Q.77 Select the most appropriate option to fill in blank number 2.
Ans 1. trust
o 2. just
3. rarely
4. under
Question ID : 264330117359
Option 11D : 264330461485
Option 2 ID : 264330461486
Option 3 ID : 264330461488
Option 4 ID : 264330461487
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Courtesy, etiquette and demeanour are words which were of (1)____ importance till a few
years ago. Formal behaviour has always been an important part of not (2)___ workplaces,
but also at schools and government organisations. However, of late, informality is being
considered cool by many from this generation. This, however, leads to situations where the
language and mannerism (3)____ could be considered rude. Although language has
transformed over time, there is no (4)____ for lack of etiquette. There are definitely times and

places where not displaying politeness and manners could lead to (5) consequences.
SubQuestion No : 78
Q.78 Select the most appropriate option to fill in blank number 3.
Ans & 1. communicated
2. treated
3. coated
4. floated
Question ID : 264330117360
Option 1 ID : 264330461489
Option 2 ID : 264330461490
Option 3 ID : 264330461492
Option 4 ID : 264330461491
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
Courtesy, etiquette and demeanour are words which were of (1) importance till a few
years ago. Formal behaviour has always been an important part of not (2) workplaces,
but also at schools and government organisations. However, of late, informality is being
considered cool by many from this generation. This, however, leads to situations where the
language and mannerism (3) could be considered rude. Although language has
transformed over time, there is no (4) for lack of etiquette. There are definitely times and
places where not displaying politeness and manners could lead to (5) consequences.
SubQuestion No : 79
Q.79 Select the most appropriate option to fill in blank number 4.
Ans 1. service
2. browse
o 3. excuse
4. rescue
Question ID : 264330117361
Option 11D : 264330461496
Option 2 ID : 264330461495
Option 3 ID : 264330461494
Option 4 ID : 264330461493
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Courtesy, etiquette and demeanour are words which were of (1)____ importance till a few
years ago. Formal behaviour has always been an important part of not (2)___ workplaces,
but also at schools and government organisations. However, of late, informality is being
considered cool by many from this generation. This, however, leads to situations where the
language and mannerism (3)____ could be considered rude. Although language has
transformed over time, there is no (4)____ for lack of etiquette. There are definitely times and
places where not displaying politeness and manners could lead to (5) consequences.

SubQuestion No : 80
Q.80 Select the most appropriate option to fill in blank number 5.
Ans 7 1.serious

2. dress
3. rickety

4. drowsy

Question ID : 264330117362
Option 1 1D : 264330461500
Option 2 ID : 264330461497
Option 3 ID : 264330461499
Option 4 ID : 264330461498
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Salsais a (1) and exhilarating Latin dance and music genre that originated in the
1960s in New York City. Fusing Cuban and Puerto Rican rhythms with jazz and other
influences, Salsa is an infectious celebration of (2) and rhythm. The dance is
characterised by intricate footwork, dynamic spins, and (3) partner interactions,
expressing joy, sensuality, and cultural heritage. Salsa’s infectious beats and (4)

spirit have transcended borders, captivating dance enthusiasts worldwide. Whether on the
dance floor or (5) its rhythmic melodies, Salsa’s infectious charm unites people,
bridging cultures and spreading the joy of movement and music.

SubQuestion No : 81
Q.81 Select the most appropriate option to fill in blank number 1.
Ans 7 1. vibrant

2. bright
3. scalding

4. lifeless

Question ID : 264330172241
Option 1 ID : 264330675529
Option 2 ID : 264330675527
Option 3 ID : 264330675530
Option 4 ID : 264330675528
Status : Answered
Chosen Option : 1




Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Salsais a (1) and exhilarating Latin dance and music genre that originated in the
1960s in New York City. Fusing Cuban and Puerto Rican rhythms with jazz and other
influences, Salsa is an infectious celebration of (2) and rhythm. The dance is
characterised by intricate footwork, dynamic spins, and (3) partner interactions,
expressing joy, sensuality, and cultural heritage. Salsa’s infectious beats and (4)

spirit have transcended borders, captivating dance enthusiasts worldwide. Whether on the
dance floor or (5) its rhythmic melodies, Salsa’s infectious charm unites people,
bridging cultures and spreading the joy of movement and music.

SubQuestion No : 82
Q.82 Select the most appropriate option to fill in blank number 2.
Ans 1. expiration

«” 2. movement
3. glamour

4. blitz

Question ID : 264330172242
Option 11D : 264330675532
Option 2 ID : 264330675531
Option 3 ID : 264330675534
Option 4 ID : 264330675533
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Salsais a (1) and exhilarating Latin dance and music genre that originated in the
1960s in New York City. Fusing Cuban and Puerto Rican rhythms with jazz and other
influences, Salsa is an infectious celebration of (2) and rhythm. The dance is
characterised by intricate footwork, dynamic spins, and (3) partner interactions,
expressing joy, sensuality, and cultural heritage. Salsa’s infectious beats and (4)

spirit have transcended borders, captivating dance enthusiasts worldwide. Whether on the
dance floor or (5) its rhythmic melodies, Salsa’s infectious charm unites people,
bridging cultures and spreading the joy of movement and music.

SubQuestion No : 83
Q.83 Select the most appropriate option to fill in blank number 3.
Ans 1. depraved

2. historic
o 3. passionate

4. impassive

Question ID : 264330172243
Option 11D : 264330675535
Option 2 ID : 264330675536
Option 3 ID : 264330675538
Option 4 ID : 264330675537
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Salsais a (1) and exhilarating Latin dance and music genre that originated in the
1960s in New York City. Fusing Cuban and Puerto Rican rhythms with jazz and other
influences, Salsa is an infectious celebration of (2) and rhythm. The dance is
characterised by intricate footwork, dynamic spins, and (3) partner interactions,
expressing joy, sensuality, and cultural heritage. Salsa’s infectious beats and (4)

spirit have transcended borders, captivating dance enthusiasts worldwide. Whether on the
dance floor or (5) its rhythmic melodies, Salsa’s infectious charm unites people,
bridging cultures and spreading the joy of movement and music.

SubQuestion No : 84
Q.84 Select the most appropriate option to fill in blank number 4.
Ans 1. lazy

«” 2. energetic

3. calm

4. sloppy

Question ID : 264330172244
Option 11D : 264330675541
Option 2 ID : 264330675540
Option 3 ID : 264330675542
Option 4 ID : 264330675539
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Salsais a (1) and exhilarating Latin dance and music genre that originated in the
1960s in New York City. Fusing Cuban and Puerto Rican rhythms with jazz and other
influences, Salsa is an infectious celebration of (2) and rhythm. The dance is
characterised by intricate footwork, dynamic spins, and (3) partner interactions,
expressing joy, sensuality, and cultural heritage. Salsa’s infectious beats and (4)

spirit have transcended borders, captivating dance enthusiasts worldwide. Whether on the
dance floor or (5) its rhythmic melodies, Salsa’s infectious charm unites people,
bridging cultures and spreading the joy of movement and music.

SubQuestion No : 85
Q.85 Select the most appropriate option to fill in blank number 5.
Ans 1. throughout

2. across
3. though
«” 4. through

Question ID : 264330172245
Option 1 ID : 264330675543
Option 2 ID : 264330675546
Option 3 ID : 264330675545
Option 4 ID : 264330675544
Status : Answered
Chosen Option : 4




Q.86

Ans

Comprehension:
Read the given passage and answer the questions that follow.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to
businesses these days because it's an open market for top talent. A good employee can walk
out of the door today and have a comparable or better job tomorrow. Which brings up a very
important question: what would the companies do to keep away that person from even
thinking about going to work elsewhere? Gone are the days when the monthly pay check and
two weeks' vacation a year were enough to keep employees happy. Employers must come up
with irresistible incentives to keep top talent onboard. The results of a recent survey by
Fortune Magazine on why people leave their jobs shows that 30 percent leave for better
compensation and benefits, 27 per cent for a better career opportunity, 27 per cent for new
experience, 21 per cent are dissatisfied with opportunities at current job, and 16 percent
desire to change careers or Industries. Money is no longer the only major motivator. So, is an
onsite day-care centre for working parents. Paying for all or part of their health insurance? Or
offering educational assistance or paying for certification? On an annual ski trip, paid foreign
tours, onsite car washes and oil changes? Or free laundry and dry-cleaning facilities? Or
prized stock options? Well, it could be anything as long as it can keep the employees
motivated. There are perks other than monetary gains or raise in pay package which can
make employees feel happy and satisfied and promote the feel-good factor.

SubQuestion No : 86

Which of the following reasons is NOT mentioned in the passage with regard to people
leaving their jobs?

1. Dissatisfaction with opportunities at current job
2. For new experience
3. Better compensation and benefits in new job

«” 4. Family constraint especially after getting married

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :
Status :
Chosen Option :

264330141641
264330554889
264330554888
264330554887
264330554890
Answered

4




Comprehension:
Read the given passage and answer the questions that follow.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to
businesses these days because it's an open market for top talent. A good employee can walk
out of the door today and have a comparable or better job tomorrow. Which brings up a very
important question: what would the companies do to keep away that person from even
thinking about going to work elsewhere? Gone are the days when the monthly pay check and
two weeks' vacation a year were enough to keep employees happy. Employers must come up
with irresistible incentives to keep top talent onboard. The results of a recent survey by
Fortune Magazine on why people leave their jobs shows that 30 percent leave for better
compensation and benefits, 27 per cent for a better career opportunity, 27 per cent for new
experience, 21 per cent are dissatisfied with opportunities at current job, and 16 percent
desire to change careers or Industries. Money is no longer the only major motivator. So, is an
onsite day-care centre for working parents. Paying for all or part of their health insurance? Or
offering educational assistance or paying for certification? On an annual ski trip, paid foreign
tours, onsite car washes and oil changes? Or free laundry and dry-cleaning facilities? Or
prized stock options? Well, it could be anything as long as it can keep the employees
motivated. There are perks other than monetary gains or raise in pay package which can
make employees feel happy and satisfied and promote the feel-good factor.

SubQuestion No : 87

Q.87 Select the most suitable title for the given passage.

Ans

1. Money — A Major Motivator for Employees
«” 2. Challenges to Keep Employees Onboard
3. Giving Employees a Feel Good Factor

4. Incentives for Employees

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

264330141642
264330554893
264330554891
264330554894
264330554892
Not Answered




Comprehension:
Read the given passage and answer the questions that follow.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to
businesses these days because it's an open market for top talent. A good employee can walk
out of the door today and have a comparable or better job tomorrow. Which brings up a very
important question: what would the companies do to keep away that person from even
thinking about going to work elsewhere? Gone are the days when the monthly pay check and
two weeks' vacation a year were enough to keep employees happy. Employers must come up
with irresistible incentives to keep top talent onboard. The results of a recent survey by
Fortune Magazine on why people leave their jobs shows that 30 percent leave for better
compensation and benefits, 27 per cent for a better career opportunity, 27 per cent for new
experience, 21 per cent are dissatisfied with opportunities at current job, and 16 percent
desire to change careers or Industries. Money is no longer the only major motivator. So, is an
onsite day-care centre for working parents. Paying for all or part of their health insurance? Or
offering educational assistance or paying for certification? On an annual ski trip, paid foreign
tours, onsite car washes and oil changes? Or free laundry and dry-cleaning facilities? Or
prized stock options? Well, it could be anything as long as it can keep the employees
motivated. There are perks other than monetary gains or raise in pay package which can
make employees feel happy and satisfied and promote the feel-good factor.

SubQuestion No : 88

Q.88 According to the passage, what is NOT a key concern of businesses these days?

Ans

1. Motivating employees
o 2. Criticising the employees’ performance
3. Keeping employees on payroll

4. Happiness of employees

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

264330141640
264330554886
264330554885
264330554883
264330554884
Answered

2




Q.89

Ans

Comprehension:

Read the given passage and answer the questions that follow.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to
businesses these days because it's an open market for top talent. A good employee can walk
out of the door today and have a comparable or better job tomorrow. Which brings up a very
important question: what would the companies do to keep away that person from even
thinking about going to work elsewhere? Gone are the days when the monthly pay check and
two weeks' vacation a year were enough to keep employees happy. Employers must come up
with irresistible incentives to keep top talent onboard. The results of a recent survey by
Fortune Magazine on why people leave their jobs shows that 30 percent leave for better
compensation and benefits, 27 per cent for a better career opportunity, 27 per cent for new
experience, 21 per cent are dissatisfied with opportunities at current job, and 16 percent
desire to change careers or Industries. Money is no longer the only major motivator. So, is an
onsite day-care centre for working parents. Paying for all or part of their health insurance? Or
offering educational assistance or paying for certification? On an annual ski trip, paid foreign
tours, onsite car washes and oil changes? Or free laundry and dry-cleaning facilities? Or
prized stock options? Well, it could be anything as long as it can keep the employees
motivated. There are perks other than monetary gains or raise in pay package which can
make employees feel happy and satisfied and promote the feel-good factor.

SubQuestion No : 89

According to the passage, what is the percentage of people who are not satisfied with
the opportunities at their current jobs?

1.27%
2. 24%
7 3.21%
4. 14%
Question ID
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID
Status :

Chosen Option :

: 264330141644

264330554900
264330554902
264330554899

: 264330554901

Answered
3




Comprehension:
Read the given passage and answer the questions that follow.

Keeping employees happy, motivated, and on the payroll is one of the key concerns to
businesses these days because it's an open market for top talent. A good employee can walk
out of the door today and have a comparable or better job tomorrow. Which brings up a very
important question: what would the companies do to keep away that person from even
thinking about going to work elsewhere? Gone are the days when the monthly pay check and
two weeks' vacation a year were enough to keep employees happy. Employers must come up
with irresistible incentives to keep top talent onboard. The results of a recent survey by
Fortune Magazine on why people leave their jobs shows that 30 percent leave for better
compensation and benefits, 27 per cent for a better career opportunity, 27 per cent for new
experience, 21 per cent are dissatisfied with opportunities at current job, and 16 percent
desire to change careers or Industries. Money is no longer the only major motivator. So, is an
onsite day-care centre for working parents. Paying for all or part of their health insurance? Or
offering educational assistance or paying for certification? On an annual ski trip, paid foreign
tours, onsite car washes and oil changes? Or free laundry and dry-cleaning facilities? Or
prized stock options? Well, it could be anything as long as it can keep the employees
motivated. There are perks other than monetary gains or raise in pay package which can
make employees feel happy and satisfied and promote the feel-good factor.

SubQuestion No : 90

Q.90 What does the phrase ‘gone are the days’ mean?

Ans

1. The things that are happening now will no longer happen in future
2. The things that used to happen in the past are still the same
3. The things that used to happen in the past are expected to repeat over coming days

«” 4. The things that used to happen in the past are no longer happening now

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

264330141643
264330554895
264330554897
264330554898
264330554896
Answered

4




Comprehension:
Read the given passage carefully and answer the question that follows.

In the mid-1830’s, two ambitious Parisian chemists set out to answer a question. They worked
at a perfume house, distilling cakes, and by night, the men conducted experiments, hoping to
discover the chemical difference between organic and inorganic material.

For centuries perfume was seen as a protection from disease, which was thought to be
transmitted through infected air. They thought ‘the only indication of these infections was the
smell, and thus the best way to preserve health and extend life was to purge one’s
environment of these bad smells.” Bathing, particularly in hot water, was considered a
dangerous invitation to sickness.

Napoleon went through 60 bottles of perfume a month. ‘He doused himself in it, bathed in it.
He drank it, diluted it with water or wine, and kept a bottle beside him on the eve of every
battle.

SubQuestion No : 91
Q.91 Identify the fact that is true according to the passage.

Ans 1. Experiments were conducted to find out if the bathing water could be hot.
2. Bitter almonds and oranges were used to treat diseases.
«” 3. They thought using perfume would purge the environment, thus preventing diseases.
4. Bathing in hot water was considered sacred.
Question ID : 264330164216
Option 1 1D : 264330644104
Option 2 ID : 264330644103
Option 3 ID : 264330644105
Option 4 ID : 264330644106
Status : Not Answered
Chosen Option : --
Comprehension:
Read the given passage carefully and answer the question that follows.
In the mid-1830’s, two ambitious Parisian chemists set out to answer a question. They worked
at a perfume house, distilling cakes, and by night, the men conducted experiments, hoping to
discover the chemical difference between organic and inorganic material.
For centuries perfume was seen as a protection from disease, which was thought to be
transmitted through infected air. They thought ‘the only indication of these infections was the
smell, and thus the best way to preserve health and extend life was to purge one’s
environment of these bad smells.” Bathing, particularly in hot water, was considered a
dangerous invitation to sickness.
Napoleon went through 60 bottles of perfume a month. ‘He doused himself in it, bathed in it.
He drank it, diluted it with water or wine, and kept a bottle beside him on the eve of every
battle.
SubQuestion No : 92
Q.92 Select the most appropriate ANTONYM of the given word in the context of the
passage.
Doused
Ans 7 1. Droughty
2. Baffled
3. Mystified
4. Dipped
Question ID : 264330164218
Option 1 1D : 264330644114
Option 2 ID : 264330644112
Option 3 ID : 264330644113
Option 4 ID : 264330644111
Status : Answered
Chosen Option : 4




Comprehension:
Read the given passage carefully and answer the question that follows.

In the mid-1830’s, two ambitious Parisian chemists set out to answer a question. They worked
at a perfume house, distilling cakes, and by night, the men conducted experiments, hoping to
discover the chemical difference between organic and inorganic material.

For centuries perfume was seen as a protection from disease, which was thought to be
transmitted through infected air. They thought ‘the only indication of these infections was the
smell, and thus the best way to preserve health and extend life was to purge one’s
environment of these bad smells.” Bathing, particularly in hot water, was considered a
dangerous invitation to sickness.

Napoleon went through 60 bottles of perfume a month. ‘He doused himself in it, bathed in it.
He drank it, diluted it with water or wine, and kept a bottle beside him on the eve of every
battle.

SubQuestion No : 93

Q.93 Select the most appropriate title for the passage.

Ans

1. Two Ambitious Bakers
«” 2. Breakthrough of Perfumes
3. Napoleon — the King

4. Protection of Diseases

Question ID : 264330164214
Option 1 1D : 264330644096
Option 2 ID : 264330644097
Option 3 ID : 264330644098
Option 4 ID : 264330644095
Status : Answered
Chosen Option : 2

Comprehension:

Read the given passage carefully and answer the question that follows.

In the mid-1830’s, two ambitious Parisian chemists set out to answer a question. They worked

at a perfume house, distilling cakes, and by night, the men conducted experiments, hoping to

discover the chemical difference between organic and inorganic material.

For centuries perfume was seen as a protection from disease, which was thought to be

transmitted through infected air. They thought ‘the only indication of these infections was the

smell, and thus the best way to preserve health and extend life was to purge one’s

environment of these bad smells.” Bathing, particularly in hot water, was considered a

dangerous invitation to sickness.

Napoleon went through 60 bottles of perfume a month. ‘He doused himself in it, bathed in it.

He drank it, diluted it with water or wine, and kept a bottle beside him on the eve of every

battle.

SubQuestion No : 94

Q.94 What is the central theme of the passage?
Ans 1. Preventive measures of a disease
2. Why Napoleon used perfume
«” 3. How using perfume came into existence
4. The distilling of cakes
Question ID : 264330164215
Option 1 1D : 264330644102
Option 2 ID : 264330644099
Option 3 ID : 264330644101
Option 4 1D : 264330644100
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage carefully and answer the question that follows.

In the mid-1830’s, two ambitious Parisian chemists set out to answer a question. They worked
at a perfume house, distilling cakes, and by night, the men conducted experiments, hoping to
discover the chemical difference between organic and inorganic material.

For centuries perfume was seen as a protection from disease, which was thought to be
transmitted through infected air. They thought ‘the only indication of these infections was the
smell, and thus the best way to preserve health and extend life was to purge one’s
environment of these bad smells.” Bathing, particularly in hot water, was considered a
dangerous invitation to sickness.

Napoleon went through 60 bottles of perfume a month. ‘He doused himself in it, bathed in it.
He drank it, diluted it with water or wine, and kept a bottle beside him on the eve of every
battle.

SubQuestion No : 95
Q.95 Identify the tone of the passage.
Ans 1. Emotional

o 2. Grandiose
3. Provocative

4. Curious

Question ID : 264330164217
Option 11D : 264330644109
Option 2 ID : 264330644108
Option 3 ID : 264330644110
Option 4 ID : 264330644107
Status : Answered
Chosen Option : 4

Comprehension:
Read the given passage and answer the question that follows.

Sirens, mythical creatures from Greek mythology, are often depicted as beautiful, seductive
beings with enchanting voices. In ancient legends, sirens were said to reside on rocky islands
and use their captivating songs to lure sailors towards them, causing shipwrecks. These half-
bird, half-woman creatures possessed an irresistible charm that tempted sailors to their doom.
Their haunting melodies were believed to possess a hypnotic power, capable of compelling
anyone who heard them to approach, despite the dangers that awaited. Sirens embodied the
treacherous allure of the sea, symbolising the temptations and perils that humans face in their
journeys through life. The story of Odysseus and the Sirens in Homer’s Odyssey is perhaps
the most well-known tale involving these captivating creatures. Although sirens are often
portrayed as malevolent, their allure and allure of their songs continue to captivate our
imaginations to this day, serving as a cautionary reminder of the allure and dangers that can
lie in wait, enticing us to venture into the unknown.

SubQuestion No : 96

Q.96 Which genre of literature does the character of sirens belong to?
Ans 7 1. Fantasy

2. Gothic
3. Romance

4. Science-fiction

Question ID : 264330164261
Option 1 1D : 264330644268
Option 2 ID : 264330644270
Option 3 ID : 264330644269
Option 4 ID : 264330644267
Status : Answered
Chosen Option : 2




Comprehension:
Read the given passage and answer the question that follows.

Sirens, mythical creatures from Greek mythology, are often depicted as beautiful, seductive
beings with enchanting voices. In ancient legends, sirens were said to reside on rocky islands
and use their captivating songs to lure sailors towards them, causing shipwrecks. These half-
bird, half-woman creatures possessed an irresistible charm that tempted sailors to their doom.
Their haunting melodies were believed to possess a hypnotic power, capable of compelling
anyone who heard them to approach, despite the dangers that awaited. Sirens embodied the
treacherous allure of the sea, symbolising the temptations and perils that humans face in their
journeys through life. The story of Odysseus and the Sirens in Homer’s Odyssey is perhaps
the most well-known tale involving these captivating creatures. Although sirens are often
portrayed as malevolent, their allure and allure of their songs continue to captivate our
imaginations to this day, serving as a cautionary reminder of the allure and dangers that can
lie in wait, enticing us to venture into the unknown.

SubQuestion No : 97

Q.97 What is the tone of the passage?

Ans

Q.98

Ans

1. Excited
2. Seductive
3. Melancholic

o 4. Cautioning

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Comprehension:
Read the given passage and answer the question that follows.

Sirens, mythical creatures from Greek mythology, are often depicted as beautiful, seductive
beings with enchanting voices. In ancient legends, sirens were said to reside on rocky islands
and use their captivating songs to lure sailors towards them, causing shipwrecks. These half-
bird, half-woman creatures possessed an irresistible charm that tempted sailors to their doom.
Their haunting melodies were believed to possess a hypnotic power, capable of compelling
anyone who heard them to approach, despite the dangers that awaited. Sirens embodied the
treacherous allure of the sea, symbolising the temptations and perils that humans face in their
journeys through life. The story of Odysseus and the Sirens in Homer’s Odyssey is perhaps
the most well-known tale involving these captivating creatures. Although sirens are often
portrayed as malevolent, their allure and allure of their songs continue to captivate our
imaginations to this day, serving as a cautionary reminder of the allure and dangers that can
lie in wait, enticing us to venture into the unknown.

SubQuestion No : 98
Select the most appropriate synonym of the given word in the context of the passage.

Allure
1. Heartily

2. Distastefulness

o’ 3. Appeal

4. Repulsion

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

264330164263
264330644278
264330644276
264330644277
264330644275
Answered

3

264330164264
264330644281
264330644279
264330644280
264330644282
Answered

3




Comprehension:
Read the given passage and answer the question that follows.

Sirens, mythical creatures from Greek mythology, are often depicted as beautiful, seductive
beings with enchanting voices. In ancient legends, sirens were said to reside on rocky islands
and use their captivating songs to lure sailors towards them, causing shipwrecks. These half-
bird, half-woman creatures possessed an irresistible charm that tempted sailors to their doom.
Their haunting melodies were believed to possess a hypnotic power, capable of compelling
anyone who heard them to approach, despite the dangers that awaited. Sirens embodied the
treacherous allure of the sea, symbolising the temptations and perils that humans face in their

journeys through life. The story of Odysseus and the Sirens in Homer’s Odyssey is perhaps
the most well-known tale involving these captivating creatures. Although sirens are often

portrayed as malevolent, their allure and allure of their songs continue to captivate our

imaginations to this day, serving as a cautionary reminder of the allure and dangers that can

lie in wait, enticing us to venture into the unknown.

SubQuestion No : 99

Q.99 Which of the following words best describes sirens, according to the passage?

Ans

o 1. Dangerous
2. Bubbly
3. Peaceful

4. Melancholic

Comprehension:
Read the given passage and answer the question that follows.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Sirens, mythical creatures from Greek mythology, are often depicted as beautiful, seductive

beings with enchanting voices. In ancient legends, sirens were said to reside on rocky islands
and use their captivating songs to lure sailors towards them, causing shipwrecks. These half-
bird, half-woman creatures possessed an irresistible charm that tempted sailors to their doom.
Their haunting melodies were believed to possess a hypnotic power, capable of compelling
anyone who heard them to approach, despite the dangers that awaited. Sirens embodied the
treacherous allure of the sea, symbolising the temptations and perils that humans face in their

journeys through life. The story of Odysseus and the Sirens in Homer’s Odyssey is perhaps
the most well-known tale involving these captivating creatures. Although sirens are often

portrayed as malevolent, their allure and allure of their songs continue to captivate our

imaginations to this day, serving as a cautionary reminder of the allure and dangers that can

lie in wait, enticing us to venture into the unknown.

SubQuestion No : 100

Q.100 What is the central theme of the passage?

Ans

1. Difference between sirens and mermaids
2. Future of Sirens
o’ 3. Sirens and their characteristics

4. Sirens and their lifecycle

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330164262
264330644273
264330644271
264330644274
264330644272
Answered

4

264330164260
264330644265
264330644266
264330644263
264330644264
Answered

4






